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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273037
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592751107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

RK, SL, TG, ?, VC

Options:

1. v UE
2. VE
3. = Ur
4. % VN

Question Number : 1 Question Id : 54592751107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk eTshA o I g, SHA @ vk ug e g fov e
fasredl A & a8 Wl fdhed IV, ST 3ThA T G

RK, SI, TG, 7, VC

Options:

1. v UE
2. = VE
3. = UF
4. = VN



Question Number : 2 Question Id : 54592751108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

JR3, QKS8, XD15, EW24 | ?

Options:

1.~ LP35
2. » MQ35
3. = LP37
4. = MQ37

Question Number : 2 Question Id : 54592751108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

JR3, QK&, XD15, EW24 | 7

Options:

1. v LP35
2. » MQ35
3. = LP37
4. = MQ3/

Question Number : 3 Question Id : 54592751109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

KTR49, MWV38, 02267, QCD24 ,7?



Options:

1.+ SFH33
2. » SGH33
3. = SFH36
4. » SHR36

Question Number : 3 Question Id : 54592751109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, SHA & Uk 9T oed g fov e
fasredl & & g8 @ET fashed IMAT, ST 36THA HT T

KTR49, MWVS8, OZZ67, QCD24 , 7?

Options:

1. v SFH33
2. » SGH33
3. = SFH36
4. = SHR36

Question Number : 4 Question Id : 54592751110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. = Axe
2. » Knife
3. % Saw
4. v Tailor

Question Number : 4 Question Id : 54592751110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



%ﬁﬁﬁﬂﬁwaﬁﬁr@mﬁwﬁﬁﬁﬁwemaﬁgﬁm

Options:

1. % healsl
2.

3. % 3T
4. v TS0

Question Number : 5 Question Id : 54592751111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd letter/letters from the
given alternatives.

Options:

1. = CDHQ
2. » KLPY
3. » GHLU
4. v EFJT

Question Number : 5 Question Id : 54592751111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFIlella weeT # U 310 [Wreul & O TAYH 31&TL/378TT T
S

1. = CDHQ
2. = KLPY
3. » GHLU
4. v EFJT

Question Number : 6 Question Id : 54592751112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the odd letter/letters from the
given alternatives.

Options:

1. « WVPM
2. v UTOK
3. *» QPJG

4. » ONHE

Question Number : 6 Question Id : 54592751112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao Ed UesT A T 97 Feredt # & YA 37873787 T
a0 |

1. = WVPM
2. v UTOK
3. = QPJG
4. = ONHE

Question Number : 7 Question Id : 54592751113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Chair : Carpenter :: Statue : ?

Options:

1. v Sculptor
2. » Painter

3. = Teacher
4. = Plumber



Question Number : 7 Question Id : 54592751113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad ma A e aiv fasvedt # @ Gafdd ersal S g

+f : Teg ¢ AT ;7
Options:

1. v ATHHRR

2. « RFar
3. = 3TEYTIHR
4. = YorFaT

Question Number : 8 Question Id : 54592751114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Reptile : Crocodile :: ?
Options:

1. = Furniture : Wood
2. v Gender : Female

3. = Brother . Mother
4. » Whale : Mammal

Question Number : 8 Question Id : 54592751114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@d wead & RV 910 fahedl & & HETOd osg oA H
Elai?IQI

Hﬁ'v?[cr - IRATS = 7

Options:



x AL ; oTehal
v folar : Afgom
TS : AT

x Tgol : TAddNT

ol
#®

Question Number : 9 Question Id : 54592751115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related word pair from
the given alternatives.

Factory : Worker .. ?

Options:

1. = Umpire : Pitch
2. = Court : Tennis
3. » Hospital : Teacher
4. v Site : Engineer

Question Number : 9 Question Id : 54592751115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAraTal@a vesT A o0 a0 fghedl A & FAT oee I37 A
Elai?lQI

theredT : HAelgy = 7
Options:

1. % IR : =T

2. % @I : eAd

3. = ITIdTel : IR

4. v FGEC : ZSIeRIT



Question Number : 10 Question Id : 54592751116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘RANGE’ Is written as ‘95316,
‘FAKEFE’ 1s written as ‘4576, ‘BIKE’ is written as ‘8276°. What is
the code for ‘REGAP’ in that code language?

Options:

1. v 96158
2. % 32157
3. % 63152
4. %= 49618

Question Number : 10 Question Id : 54592751116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vk [aTese g #9T &, ‘RANGE’ &7 ‘95316’ ToI@r ST &,
‘FAKE® &t ‘4576 Tor@r S1ar &, ‘BIKE =1 ‘8276° Tor@r AT &I
SH g AT # ‘REGAB’ T I8 T &7

Options:

1. v 96158
2. = 32157
3. = 63152
4. = 49618

Question Number : 11 Question Id : 54592751117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘BAG’ is called as ‘CAR’, ‘CAR’ Is
called as ‘REFRIGERATOR’, ‘REFRIGERATOR’ is called as
‘LAND’, ‘LANIDY is called as ‘RENT’, ‘RENT’ is called as
‘BUILDER’. Where do we Kkeep our water bottles?

Options:

1. ¥ Land
2. » Rent



3. = Refrigerator
4. = {ar

Question Number : 11 Question Id : 54592751117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

vk afeee g AT &, ‘S FY R HET ST &, FR H
IheeT gl ST &, IheRST T HA Fgl SAar g,
F ‘TRIT FET ST §, TRUAT &1 Sesd FaET AT &1 &5
YT UTAT “hl Sidoll Sl hal T &7

1. v Hqf#
2. = feRTmET
3. = IMpeeT
4. = FY

Question Number : 12 Question Id : 54592751118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘GUN’ is called as ‘BLADE’, ‘BLADE’
is called as ‘KEY’, ‘KEY’ is called as ‘GLASS’, ‘GLASS’ is called
as ‘SPHERE’, ‘SPHERE’ is called as ‘BOOK’. What do we use to
start a car?

Options:

1. v Glass
2. Rey
3. = Gun
4. » Blade

Question Number : 12 Question Id : 54592751118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TATRISC I HINT H, Foeh @I sols’ gl Sl &, Tels’ ol
GTET @l ST &, 16T ohl ToId Hel SIdT &, T o)
IMeAT FFT ATAT &, el KT "TEAF Fgl ST g1 FR el
Flal & TIT &H T ol T 3T Fld &7

Options:

1. v JolIH
2. % TT&T

3. » Ei?fl?

4. » TG

Question Number : 13 Question Id : 54592751119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

B1 is 4 years older to B2. B2 is 10 years younger to B3. B3 1s 12
years older to B4. B4 is 8 years younger to B5. Who is the
oldest among them?

Options:

1. = BS
2. % Bl
3.v B3
4 % B2

Question Number : 13 Question Id : 54592751119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bl, B2 @ 4avy 3T &l B2, B3 & 10 a¥ @ler g1 B3, B4 &
12 ¥ =T &1 B4, B5 @ 8 g¥ oIaT &1 3a8 & &8 &7 SHid
&7

Options:

1. = BS
2. = BT




3. v B3
4. = B2

Question Number : 14 Question Id : 54592751120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Heights of five persons L1, L2, L3, L4 and L5 is compared.
Height of L1 is twice of L.2. Height of L.2 is thrice of L.3. Height
of L3 is 4 times of L.5. Height of L5 is half of L4. Who 1s the
shortest among them?

Options:

1. = L2
2. % L3
3. v L5
4. %14

Question Number : 14 Question Id : 54592751120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U SgiFaar L1, L2, L3, L4 T L5 #r 3ang Fr Jelar
IR &1 L1 Fang L2 hr gRpEr &1 L2 @7 3 L3 ST e
T §1 L3 T 31g LS T 4 97 &1 L5 T 3ang L4 hr amedy
gl 37 O dad DIl Fid &7

Options:

1. = L2
2. % L3
3. v L5
4. = L4

Question Number : 15 Question Id : 54592751121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Weilght of J1 is more than J2. Weight of J4 is less than J5 but
equal to J3. Weight of J6 is more than J1. Weight of |5 is less
than J2. If the weight of J2 is 118 kg, then what can be the
sum of the weights of J3 and J2?

Options:

1. = 236 kg
2. % 238 kg
3.v 228 kg
4, % 240 kg

Question Number : 15 Question Id : 54592751121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J1 T gofel J2 & 3TOF B J4 T Tl J5 & FA § T J3

o ST gl J6 T Toted J1 & & g1 J5 T gofa J2 § FH
& e J2 &7 aater 118 Tram. &, ar J3 T J2 & gole T

AT FAT &7 Hehdl &7

Options:

1. = 236 fer.amm.
2. = 238 fer.am.
3. v 228 Th.am.
4. = 240 fer.am.

Question Number : 16 Question Id : 54592751122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Seven boys A, B, C, D, E, F and G are arranged in ascending
order according to their age from left to right (not necessarily
in the same order). G’s age is minimum. Age of A is more than
only four boys. Age of E is less than F but more than A. If the
age of C is more than only two boys, then in how many ways
we can arrange them according to their age in descending
order from left to right?

Options:

1.3
2. %1
3.5 4
4. v 2

Question Number : 16 Question Id : 54592751122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 5T A, B, C, D, E, F T9T G &I 3eThl 3T F 3@
I & T I 3N ded FH A Iedd har = & (I
ogT T T sl H BN G HT I wgeTcdA &I A T 3 el
AN oI5l & 3k &1 E T 3 F & 78 W A § I+ B
Il C T 3 Fhael a1 d5hN T IHGF &, A §H 3og 3aloh]
HY & AN Ted FA A I & e HT 3N forda Tl=hl &
afeUd T Thet &7

Options:

1. = 3
2. % 1
3. % 4
4. v 2

Question Number : 17 Question Id : 54592751123 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Weilghts of seven persons Y1, Y2, Y3, Y4, Y5, Y6 and Y7 are
compared. Weight of Y6 1s more than Y4 but less than Y1.
Weilght of Y5 is less than Y1. Weight of Y2 is minimum.
Weight of Y3 is more than Y4 but less than Y6. Y5 and Y7 have
equal weight. If Weight of Y7 is not less than Y6, then Weight
of Y6 is less than how many persons?

Options:

1.+ 3
2. % 2
3.4
N |

Question Number : 17 Question Id : 54592751123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

grd satFaar Y1, Y2, Y3, Y4, Y5, Y6 AT Y7 & golel HI
el T a7 §1 Y6 FT dolel Y4 & 3fdw § W Y1 & FA &
Y5 T dofel Y1 & FH &1 Y2 T dofel ogeidd &1 Y3 T
golel Y4 & 39k § Wg Y6 § FH &1 Y5 4T Y7 FT golat
e &1 AT Y7 &7 Tofd Y6 & FF A8l &, df Y6 T ol
fohdel S aAl & FH &7

Options:

1. v 3
2. % 2
3. = 4
4. = 1

Question Number : 18 Question Id : 54592751124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
[. NoLis]J.
II. NoJis P.

Conclusions:

I. Some L are J.
II. Some P are L.
III. Some L are P.

Options:

1. = Only conclusion I follows
2. = Only conclusion II follows
3. » Only conclusion III follows
4. v Neither conclusion follow

Question Number : 18 Question Id : 54592751124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

2o

. FE L, J T8 &I
Il. :E J, P 8T &I
GRS H

. F5 L, J 8l

I F5 P, L Bl

Il. ¥= L, P &l

1. » hgel ToIShY | HATLOT Tl g
2. % had Tashy || IHTEROT FIAT &

3. % haol oSy | 3TELOT Il g

4. v B oY forsers sraTeor FTE e &

Question Number : 19 Question Id : 54592751125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. All cup are plate.
II. No cup Is spoon.

Conclusions:

I. Some Plate are spoon.
II. Some spoon are plate.
II1. All spoon are plate.

Options:

1. = Only conclusion I follows
2. = Only conclusion II follows
3. » Only conclusion III follows
4. v Neither conclusion follow

Question Number : 19 Question Id : 54592751125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd AT Ik FI€ 37 FUAT W
TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

2o

. T U, ol &I

I. IS FY, TFAT dAaT &
IGLE R

. % Tole, IFAT B
-t

. FT TFA, Cole &l
. T 9FA, Tolc &l

Options:

1. » hgel ToIShY | HATLOT Tl g
2. % had Tashy || IHTEROT FIAT &
3. % haol oSy | 3TELOT Il g

4. v B oY forsers sraTeor FTE e &

Question Number : 20 Question Id : 54592751126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, select the missing number from the
given series.

50, 149, 445, 1332, 3992, ?

Options:



1. » 8621
2. » 10301
3. % 9872
4.+ 11971

Question Number : 20 Question Id : 54592751126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foasTTafe weat & & a8 g=elr & & ofcd 37k A Fifei0)

50, 149, 445, 1332, 3992, 7

Options:

1. = 8621
2. % 10307
3. = 9872
4. v 11971

Mental Ability2
Group Number : 2
Group Id: 5459272532
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability?2
Section Id : 5459272532
Section Number : 1

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273038
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592751127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

15, 31, 61, 123, 245, ?
Options:

1. = 105
2. % 208
3. v 491
4. % 325

Question Number : 21 Question Id : 54592751127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wea & &1 a8 J@er A @ ofcd 3F AT RS0

15, 31, 61, 123, 245, 7

Options:

1. = 105
2. = 208
3. v 491
4. = 325

Question Number : 22 Question Id : 54592751128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A series is given with one term wrong. Select that wrong term
from the given alternatives.
19, 21, 24, 26, 29, 31, 33, 37

Options:

1. v 33
2. % 37
3. = 31
4. % 29

Question Number : 22 Question Id : 54592751128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 91T &, oA & Uk U2 deld ¢ fov e
faeredl & @ 39 el Ue HT A0
19, 21, 24, 26, 29, 31, 33, 37/

Options:

1. v 33
2. % 37
3. = 31
4. = 29

Question Number : 23 Question Id : 54592751129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term wrong. Select that wrong term
from the given alternatives.

91, 96,102, 108, 114, 120, 127

Options:

1. %= 102
2. v 108
3. %= 96



4. %114

Question Number : 23 Question Id : 54592751129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3feTshA o I &, TSWA & Uk Ug deld ¢ fRv It
fasredl # & 39 el Ug H glav|

91, 96, 102, 108, 114, 120, 127

Options:

1. = 102
2. v 108
3. = 96
4. = 114

Question Number : 24 Question Id : 54592751130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

2 3 1 7
4 fc 5 | 144 3 (225

-2

Options:

1. = 81

2.+ 100
3.= 144
4. %121

Question Number : 24 Question Id : 54592751130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TAT 9T 3T dTell TEAT I AT

2 3 1 7
4 fe 5 | 144 3 (225

| S

Options:

1. = 81

2. v 100
3. = 144
4. = 121

Question Number : 25 Question Id : 54592751131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After interchanging the which two numbers, the value of the
given equation will be “9°?

6+3x1+9
Options:

1. = 6 and 3
2.+ 1and6
3.v6and?9
4. % 9and1

Question Number : 25 Question Id : 54592751131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fopeT 2Y TEATHT T 39T H WEW §caled & Tedd, o v
HHTRIUT T AT ‘9 BIOM?

6+3x1+89

Options:



* 6 dUr 3
® 1 9T 6
6 T 9

ol
<

* 9 AT T

Question Number : 26 Question Id : 54592751132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After interchanging the which two numbers, the value of the
given equation will be 66/5™?

41+6-8+5x1
Options:

1.» 4and 6
2. 5and 8
3.v8and4
4. = 1and 8

Question Number : 26 Question Id : 54592751132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foreT S TEAT3T AT HTE A WER dSala & IATd, & 0
THTRIOT KT AT ‘66/5° BEI?

4+6-8+5x%1

Options:

1. = 4 JUT 6
2. = 5 A1 8
3. v 8 dur 4
4. = 1 TAaT 8



Question Number : 27 Question Id : 54592751133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After interchanging the given two signs and two numbers,
what will be the value of the given equation?

Jand9,~and-;3+8-4x9+5+72
Options:

1. = 10
2. % 14
3.% 8
4. v 12

Question Number : 27 Question Id : 54592751133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fau a0 Oy Real Jur aF GEam3dt #1 39g # WER sdde &
qedTd, T&d T HATRIOT hT HIeT FAT GT?

3dAr 9, + dur-; 3 +8-4x9 + 5+ 2

Options:

1. = 10
2. = 14
3. = 8
4. v 12

Question Number : 28 Question Id : 54592751134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If3A2B1=5and5A3B2=64,then1A3B4="7

Options:

1. = 24
2. v 256



3.% 16
4. % 128

Question Number : 28 Question Id : 54592751134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A 3A2B1=5qam5A3B2=64g,Ld 1A3B¢4
=7
Options:

1. = 24
2. v 256
3. = 16
4. = 128

Question Number : 29 Question Id : 54592751135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If45+98 =92 and 63 + 36 = 36, then 72 + 39 =7

Options:

1. = 67
2. % 37
3.v41
4. % 59

Question Number : 29 Question Id : 54592751135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

afe 45 + 98 = 92, dUT 63 + 36 = 36 &, dr 72 + 39 = 7

Options:

1. = 67
2. % 37
3. v 41
4. = 89



Question Number : 30 Question Id : 54592751136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Game, Chess, Ludo

Options:

. ©

(0o

@

Question Number : 30 Question Id : 54592751136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3@ Ifav St & fow 7w gt & @i & dEy o
A ToT AT &

M b Y
Tel, AL, oISl

Options:



Question Number : 31 Question Id : 54592751137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Car, Truck, Transport

Options:




(©)o

@D

Question Number : 31 Question Id : 54592751137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3N Fiav S A RE e qail & = & qoe w1 HEY
fA®quT LT &

hiv, ¢, Hlicldld

Options:

(0o

D

Question Number : 32 Question Id : 54592751138 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Raman is facing towards North. Then he turns 180° clockwise.
Then he turns 90° anticlockwise. Then he turns 135°
anticlockwise. In which direction is he facing now?

Options:

1. v North-West
2. » North-East
3. = North

4, = East

Question Number : 32 Question Id : 54592751138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH 3cca T 3T 2 T&T &1 a8 TR 180° Zfétomad gadr ¢l
gg Tt 90° aTAT ad gAaT &1 98 Tt 135° aTAT ad AT &
gz 319 forg faem 1 3T 7= T W@ &2

Options:

1. v 3ca UieTH
2. % 3ca€ q@

3. * 3cal
4 « g8

Question Number : 33 Question Id : 54592751139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man walks 10 metre towards North. He turns right and
walks 32 metre. He turns left and walks 22 metre. He finally
turns right and walks 10 metre. In which direction is he now
from the starting point?

Options:

1. v North East
2. » North West



3. = South East
4, = South West

Question Number : 33 Question Id : 54592751139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk J%Y 3l T 3R 10 Al T §1 a8 &V HsaT § au
32 #eT TodT §1 98 SV {31 & TUT 22 HieT Toidl &1 T8
3c: a0 HSAT & dUT 10 Al weldr &1 g 3R+ fog |
g forg fgem # &7

Options:

1.J3FITEI:\T§[
2. * 3cal UiedH
3. = Zf&or qg
4. = GI&IUT UTTH

Question Number : 34 Question Id : 54592751140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the wrong figure from the
given series.

32
ALl

Options:

¢|>
| e

3
]

[
A

> &

¢ (O
3| [

A

L]
3
L]

> | &

1. =

>0




L1]>
3| &

C1]3¢

o
> | &

Question Number : 34 Question Id : 54592751140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaferf@d aear A, & =0T gz A & ad INFiA FT AT

¢ |A
AL [
¢
A

A 22
* L]

L
A

LA (@ ¢
X @[ [R|A[A

Options:

¢

3%
3%
O

>0

N
4
| ®

L1]>
W &

L)%

Question Number : 35 Question Id : 54592751141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the wrong figure from the
given series.

S|tV T|I|V
P 0 R W b I
Options:
S
1. = R
Vv T
2. ¢
3o XY
V
4, « W

Question Number : 35 Question Id : 54592751141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafafad wes &, & =0T Yzren A @ Teld JHa F AT

SII\v TV
P Q R W s A
Options:

S
1. = L_R



3w XY
V
4, » W

Question Number : 36 Question Id : 54592751142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd figure from the given
alternatives.

Options:

Question Number : 36 Question Id : 54592751142 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

farafaf@d wea A, U a0 fAhedl & @ fAvA TR 1 AT

Options:

Question Number : 37 Question Id : 54592751143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three positions of a dice are given below.

Which of the following statement is correct about the given
cube?

I. P and Q) are on opposite faces.

II. R and U are on opposite faces.

III. P and R will be adjacent to T.

Options:



1. = Tand II

2. = II and III
3. vTandIII

4. = I, II and III

Question Number : 37 Question Id : 54592751143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i Uk i T dle aEATe &7 I )

fow 91T g & IR H HisT T@T FUT TET &7
. P Jar Q TdW T welerl 9T gl

II. R @21 U TIT el 9T &I

. P Jar R, T & TeleaT g

Options:
1. = | 9T |
2. = || Tt
3. v | aar lli
4. = |, 1l Tt |l

Question Number : 38 Question Id : 54592751144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The dimensions of a big solid cuboid are 8 cm, 10 cm and 12
cm. After making I’ cuts on the first axis, ‘m’ number of cuts
on the second axis and ‘n” number of cuts on the third axis,
some small cubes having side 2 cm are obtained. What is the
valueof ] + m + n?

Options:

1. % 15
2. %14
3.v12
4 %11

Question Number : 38 Question Id : 54592751144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh &3 oI UaTH T J=™ATH 8 AT, 10 AT T 12 .8 &I
Ugell 3787 WX T Hera, qELT & W ‘m’ e JUT JRT &
T ‘n’ Seld el & de, 2 8.A8T. 3] arol O B¢ Hol UTTd

gd &l |+ m + n T AT AT &7

Options:

1. = 15
2. = 14
3. v 12
4. = 11

Question Number : 39 Question Id : 54592751145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given answer figures, select the one in which the
question figure is hidden/embedded.

X

Options:

1. v

i

= El

Question Number : 39 Question Id : 54592751145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& 9% 3ccl 3Tl & & 39 Sead MR v oF A
weal i fgd &l

X

Options:




N X

q

%

Question Number : 40 Question Id : 54592751146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

If a mirror is placed on the line AB, then which of the answer
figures is the right image of the given figure?

Ao
o w
oZM

Options:

S — U

o =Tl B
@ L D

@ L @
@ Euwn

¥ N




o 0
1w
Y —

3. %
59 2
17N

4« [Ke8

Question Number : 40 Question Id : 54592751146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife Tk GUUT I AB TWT W TET ST, dr &r a8 3cal 3HThiadr
H & il AT i TRl 3Tl 1 T Tlcisis grai?

A
o 92
1 LN
K6 8
B
Options:
cec
mairt
—IJBBH
c es
Frd4nu
2 % [M288
8 9
N T
3 « |€ 6 G
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General Awarenessi

Group Number : 3

Group Id: 5459272533

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarenessl

Section Id : 5459272533
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 5459273039
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592751147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Losar’ festival falls in the month of :

Options:

1. = Qctober
2. % August
3. = December



4. v February

Question Number : 41 Question Id : 54592751147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

NI A o Hgla H 37dT &I

Options:

1. = 3fFeaT
2. % 3EFd
3. « fg@sw
4. v TR

Question Number : 42 Question Id : 54592751148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kevada Mosque is situated in which state?

Options:

1. = Uttar Pradesh

2. » Maharashtra

3. » Madhya Pradesh
4. v Gujarat

Question Number : 42 Question Id : 54592751148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

hdsl Aol o o & Fua &7

Options:

1. » 3cdd woer
2. » HENISE
3. = AT UL
4.«?3_1311?[

Question Number : 43 Question Id : 54592751149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘Kanniyar Kall’ folk dance of Kerala is also known as

Options:

1. = Pulikali

2. = Kallyattom
3. = Vatrakali

4. v Desathukali

Question Number : 43 Question Id : 54592751149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A & FAAR Fell’ ok FcT HI + T H T e
ST €1

Options:

1. = Yollshell
2. % RIGATEH
3. = TAcholl
4.%39@%_0?1'

Question Number : 44 Question Id : 54592751150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs of state-festival 1s NOT correct?

I. Assam — Pongal
I1. Rajasthan — Gangaur Tee]
I1I. Mizoram — Chapchar Kut

Options:

1.+ 0nly1
2. = Only I and II
3. % Only I and III
4. = Only 11

Question Number : 44 Question Id : 54592751150 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fF=Tfal@d & & Flel &1 ToT - SN J7A el =T8T g7

. 3TH - Ti9rel
. ITSTEATT - UL dTaT
. TESIRH - IR FC AT e

Options:
1. v hadl |
2. = ahael | T |
3. = shael | T Il
4. = hae |

Question Number : 45 Question Id : 54592751151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is responsible for Monetary Policy formulation and
implementation in India?

Options:

1. v Reserve Bank of India

2. = Securities and Exchange Board of India

3. = Insurance Regulatory and Development Authority of India
4. = National Bank for Agriculture and Rural Development

Question Number : 45 Question Id : 54592751151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IRT A Alfge At & AT 3T FRTwaaa & e i
SFAeR &7

Options:

1. v IO &g s
2. = ARAN vfaefa 3R Rfea a1




3. » O siAT [AfaamEs i g ufdsegoT
4. = TGO FY TF JTHOT TFE Sk

Question Number : 46 Question Id : 54592751152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following does NOT form part of India’s Foreign
Exchange Reserves?

Options:

1. = Gold

2. = Reserve Tranche Position in International Monetary Fund
3. = Foreign Currency Assets

4. v Sovereign loan from foreign governments

Question Number : 46 Question Id : 54592751152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad & @ wia wa $r faeh fger snfara et

fewar w1gt &7
‘I.%.CFI’I?IT

2. * AWSET AT IV A Rord Rt & fged s feufa
3. « fadelr Far snfecar
4. v T2 EIHRT & UL HOT

Question Number : 47 Question Id : 54592751153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which crop Fair and Remunerative Price is announced by
the government?

Options:

1. = Cotton
2. % Jute
3. v Sugarcane



4, « Rice

Question Number : 47 Question Id : 54592751153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TER galT [ ®ae & v 3fad va oy #{ed T
YOI T ST &7

Options:

1. = surE

2.
3. v ool
4,

Question Number : 48 Question Id : 54592751154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Spinach contains acid.

Options:

1. = Citric
2. » Lactic
3. v Oxalic
4. = Tartaric

Question Number : 48 Question Id : 54592751154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTelsh & MFol BT &l

Options:

1. « R

2.
3. v 3TFTelsh
4. % TENH

Question Number : 49 Question Id : 54592751155 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A pencil of length 7 ¢cm 1s measured using a scale of 15 cm
length. The reading at end of pencil is 8 cm. The reading at the
start of pencil is

Options:

1.+v1cm
2. % 2cm
3. 3cm
4, %= 15 cm

Question Number : 49 Question Id : 54592751155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk 7 QAL o6l 9f8e I 15 F.AL dFaTe drel Tohel o1 3TIIET
F{eh ATIT ST &1 Ui & 3d # Tohel 8 AL femrar &1
U8l T L&A H Fhel femmar &I

Options:

1. v 1 |8
2. % 2 @A
3. % 3§
4. = 15 @A

Question Number : 50 Question Id : 54592751156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following bacteria promotes the formation of
curd?

Options:

1. = E.Coli

2. » Azotobactor
3. = Clostridium
4. v Lactobacillus



Question Number : 50 Question Id : 54592751156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d A @ et @1 SaTy g & e FT Ferar gidr g7

Options:

1. = §. S
2. = TSleleaed

3. * FIECISTH
4. v ST

Question Number : 51 Question Id : 54592751157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following preservative/technique can be used to
preserve ‘amla’ and ‘raw mango’?

Options:

1. = Sugar

2. = 01l and Vinegar
3. » Hot and cold treatment
4. v Common Salt

Question Number : 51 Question Id : 54592751157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& T # O Fid § TRI&TR/dhalleh T 3UIET 3T
JaT ‘Fed A & GUET Fa & o0 AT AT haT &7

Options:

1. = dlail
2. = del duT RATeT

3. = ITH TUT ST Fld]

4., v dHR

Question Number : 52 Question Id : 54592751158 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

What is the nature of image formed by human eye lens on the
retina?

Options:

1. = Virtual and Erect

2. » Real and Erect

3. v Real and Inverted

4. = Virtual and Inverted

Question Number : 52 Question Id : 54592751158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATed & ofF @RI Teeuce W eV 0 idTee Sl Tehicd 1

grelr &7

Options:

1. = THTAT J2AT GraT
2. = OIEdIaeh d2T T

3. v gIEdiaeh JoT 3l
4. » HTHTAT AT Iolal

Question Number : 53 Question Id : 54592751159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following element is sonorous?

Options:

1. = Carbon

2. = Sulphur
3. » Hydrogen
4. v ZInc

Question Number : 53 Question Id : 54592751159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frrafaf@a # & 5 dea & earfos aor 82

Options:



1. % el
2. = He

3. % gISgielel
4, v TSk

Question Number : 54 Question Id : 54592751160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When a copper vessel is exposed to moist air for long, it
acquires a dull green coating. It is due to the formation of

Options:

1. = Copper Oxide

2. = Copper Sulphide

3. v Copper Hydroxide and Copper Carbonate
4. = Copper Nitrate

Question Number : 54 Question Id : 54592751160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S Tk dTe o &dd I o THT dh oA g pel el T
ST & aF 385 9 Uk Zolenl &4 Wd A Al &l I8
FI 3cufca & HROT T &

Options:

1. = I 3FATSS

2. * P ehes

3. v FIUT ESZIFASE AT HIIL FHIETelE

4. = FHIUT ATece

Question Number : 55 Question Id : 54592751161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The sound wave with amplitude A has loudness of 10 dB. If
the amplitude of sound wave is quadrupled, the new loudness
of sound is

Options:

1. = 40 dB

2. % 400 dB
3.+ 160 dB
4. % 25 dB

Question Number : 55 Question Id : 54592751161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AMATH A aTell edfel aleT & T usteldr 10 dB &1 Ifg eafer
AT T JRATH Tl T far Sie, o eafe 7 1% geeld]

JEIN
Options:

1. = 40 dB
2. = 400 dB
3. v 160 dB
4. = 2.5 dB

Question Number : 56 Question Id : 54592751162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1s the number of live births per thousand persons in a
year.

Options:

1. = Growth Rate

2. » Death Rate

3. v Birth Rate

4. = Population Rate



Question Number : 56 Question Id : 54592751162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh dY H UTd &9 sgoddl 9T SeAT (Siad) wr
q&aT &l

1. % gig &
2. = #G &I

3. v SleH T

4. » FAGEAT I

Question Number : 57 Question Id : 54592751163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following pairs is NOT correctly matched?

Options:

1. = Rabl crops — Wheat and Barley

2. » Kharif Crops — Maize and Jowar

3. » Zaid Crops — Watermelon and Cucumber
4. v Zaid Crops — Jowar and Barley

Question Number : 57 Question Id : 54592751163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[t # & Fid &7 S8 G&1 & Al 60 ST 87

Options:

1. = T&T ST el - g 3R it

2. = TUE T BHel - FFehT 3T AR
3. * GG HT BFel - el 3 Hehsl
4. v JE HT Bl - sa” AT St

Question Number : 58 Question Id : 54592751164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a peak of Himalayas?




Options:

1. = Guru Shikhar
2. v Dhaulagiri

3. » Anamudi

4. » Palani Hills

Question Number : 58 Question Id : 54592751164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @d # & iad &1 Ry FAeT &1 87

Options:

1.« 7% formy
2. v OiemeRT
3. » 3aATHS
4. = golTar feed

Question Number : 59 Question Id : 54592751165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Arrange the following rivers from North to South direction.

I — Chenab

IT — Kaver1

III - Ganga

IV — Tapi

Which of the following sequence is correct?

Options:

1. = IIL, I, IV, 11
2.« LI II, IV
3.« LIIL IV, II
4.« IV, L I, III

Question Number : 59 Question Id : 54592751165 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

et & AT &1 3cay & STET foom # =uaiead i

| - eATe
Il - hTeNT
Il - 3ram
IV - dgrar
frafei@a & @ ia a1 &8 T@@r §7

Options:
1. = 1, 1, IV, I
2. = |, I, 1, IV

3. v I, IV,
4. = IV, |, 11, 1l

Question Number : 60 Question Id : 54592751166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Makku’,Trang’ and ‘Jirl’ are tributaries of which river?

Options:

1. » Mahanadi
2. » Luni

3. = Krishna
4. v Meghna

Question Number : 60 Question Id : 54592751166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Herp, AT, 3N TRy forg @idT 1 @i wAfear g7

Options:




3. * SO
4. v BT
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Question Number : 61 Question Id : 54592751167 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which crop requires cool weather with moderate rainfall and
it grows well in the northern plains of India during winter
season when the mean temperature is between 10 and 15

degree Celsius?

Options:

1. = Rice



2. v Wheat
3. = Cotton
4. = Sugarcane

Question Number : 61 Question Id : 54592751167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FT e I ACTH I & AT 38 AEH T 3TeTehdr adr

& 3T I8 R & 3ol A # afar & #lga & Soa oe
Mrad dvAT 10 3T 15 =33 afcaaw & S 8IaT &, 37<es
NE T dadr & ?

Options:

1. = <Tdel
2. v IF

3. * RUH
4. = T

Question Number : 62 Question Id : 54592751168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the last Mughal emperor of India?

Options:

1. » Shah Alam II

2. » Muhammad Shah
3. # Jahandar Shah

4. v Bahadur Shah Zafar

Question Number : 62 Question Id : 54592751168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRT FT dTH HaTeT THTC Fid aT?

Options:

1. = 9@ 3TerH |




2. % HEFAG o8

N

3. % SIEEN 078

4. v SEIGY Mg ST

Question Number : 63 Question Id : 54592751169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following leader was NOT assoclated with
Brahmo Samaj?

Options:

1. v Bal Gangadhar Tilak
2. » Raja Rammohan Roy
3. » Keshab Chandra Sen
4. = Debendranath Tagore

Question Number : 63 Question Id : 54592751169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

@ & @ i IT adT §8H AT ﬁaﬁﬂmgaﬂﬂﬂ

Options:

1. v STel PN Telh

2. = Tl THAIGS T4
3. % he Ig ol
4. = TAgaT MY

Question Number : 64 Question Id : 54592751170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following British India Acts passed a resolution
for holding Indian Civil Services Examination simultaneously
in London and in India?

Options:

1. « Charter Act of 1813
2. v Indian Councils Act of 1892



3. » Charter Act of 1853
4. = Regulating Act of 1773

Question Number : 64 Question Id : 54592751170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafo@aa & 8 Torg Rifeer sfEar sfafeaa a o 3w sirRa
H U 1T ARG [ETaer dar wigT A EiTd #da &l TEdd
g Topam oar?

Options:

1. = 1813 T =T Tafaawsd

2. v 1892 T 9Rd ufiiwe, sifafawgs
3. = 1853 T AT TATIAH

4. = 1773 1 Afagas wfafagd

Question Number : 65 Question Id : 54592751171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Under the rule of which Governor-General ‘Sati’ practice was
abolished?

Options:

1. = Charles Cornwallis
2. = Lord Mayo

3. » Richard Wellesley
4. v William Bentinck

Question Number : 65 Question Id : 54592751171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oFE ITTa-STa¥ol & T & dad Idl WaT s AT Rar
=T AT?

Options:

1. % TTed hloldlord




2. % g AT
3. » N8 dolwelr
4. v @A sSfew

Question Number : 66 Question Id : 54592751172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Pala king founded Vikramshila University?

Options:

1. v Dharmapala
2. = Gopala I

3. » Mahipala II
4. = Kumarapala

Question Number : 66 Question Id : 54592751172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fore Tl TaTT o TashaATRIem faealaearery shr Tamgar hr 2r?

Options:

1. v gHUTe
2. = amgrel |
3. % HAfgyrer I
4.

® eheldMlel
2

Question Number : 67 Question Id : 54592751173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a feature of Wood’s Despatch?

Options:

1. = It declared that Indians should be only taught vernacular
languages

2. = For higher education, Hindi was to be the medium of
instruction



3. v English as the medium of instruction for higher education
4. = Only Indian languages were to be taught to the Indians

Question Number : 67 Question Id : 54592751173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafai@a & @ a1 gsa 3ed= &r faeyar g7

Options:

1. = SHel HIVUT I Toh MR T hael o2l YV EEE S0
2. % 3T TRIe o Tolw Tgdr e &1 Ategsd g

3. v 3= & & Tolw 37T T&IT T ATEIH S

4. = WA T hdd HART ANV gl SATTIT

Question Number : 68 Question Id : 54592751174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Indian film won NETPAC award at 23rd Bucheon
International Fantastic Film Festival (BIFAN) in South Korea?

Options:

1. = Padmaavat

2. * Andhadhun

3. v Gully Boy

4. = EK Ladki Ko Dekha Toh Aisa Laga

Question Number : 68 Question Id : 54592751174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

farafeiaa & @ fofT fhem o &80T RINET & 3mAfaaT 23 o
JihaTel FeTaereiel thelfeesh her Bieeae (8 ®lf) A Acdsh
QIERIT ST ?

Options:

1. = THAEGd

W

2.W3T%1T%IDFI'



3. v e T
4, » Ueh oIS<hl &Rl SWT al TAT oel

Question Number : 69 Question Id : 54592751175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won Amnesty International’s ‘Ambassador of Conscience
Award’ 20197

Options:

1. = Malala Yousafzal
2. » Vandanda Shiva

3. v Greta Thunberg

4. = Marina Silva

Question Number : 69 Question Id : 54592751175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 T THAECT Sclalelalel T 'TSHSY 3HH Hhiebed HdTS
forget Siar &7

Options:
1. % FelTdT JHHTs
2. % gear fear

S.Jaﬁaﬂ?ﬁlﬁ
4. = AT Eear

Question Number : 70 Question Id : 54592751176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

First IPS to complete ‘Seven Summits Challenge’ is

Options:

1. = Kiran Bedi
2. « Ravindra Kumar
3. v Aparna Kumar



4. = Sanjay Kumar

Question Number : 70 Question Id : 54592751176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

"7 RET gl R QW e gren/arell YA dEAed
3

Options:

1. = fRYoT &1
2. = Ideg HHAR
3. var‘rw

4. = TG FHAR

Question Number : 71 Question Id : 54592751177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Lessons Life Taught Me Unknowingly’ is an autobiography of
which of the following personalities?

Options:

1. * Anu Kapoor
2. * Hema Malini
3. » Rishi Kapoor
4. v Anupam Kher

Question Number : 71 Question Id : 54592751177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

T oISF cic HI deasdal o # & Fg sfedca &1
3TcHRT &7

Options:

1. % 3 FPR
2. % BHAT ATfelar
3. * ¥ FY




4.%3-1@'@@1'

Question Number : 72 Question Id : 54592751178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which Indian author has been appointed as the director of
London’s Nehru Centre?

Options:

1. * Arundhati Roy
2. = Amitav Ghosh
3. v Amish Tripathi
4. = Chetan Bhagat

Question Number : 72 Question Id : 54592751178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R RO TS/ EIRT I oGl o IB@® ohg, o Tolaleh o &9
ﬁﬁlﬂﬁmmﬁ?

1. « 3oufy T

2. = fAGE =Y

3. v AN FHUST
4.

« g I

Question Number : 73 Question Id : 54592751179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Order of the Distinguished Rule of Nishan Izzuddeen’ has
been conferred on Prime Minister Narendra Modi by which of
the following country?

Options:

1. = UAE
2. » Malaysia
3. v Maldives



4, » Indonesia

Question Number : 73 Question Id : 54592751179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IMET 36 & f3TEErsels wor 3 e ool & WuTe #AT
g AST T TFATTeId Fla QTelT hiel T 32T &7

Options:

1. = JUZ
.
2. = HollerT
3. v ARG
4, = ZIATT
Question Number : 74 Question Id : 54592751180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is correct regarding
qualification for election as President of India?

I. The person must be a citizen of India.
II. Completed the age of 35 years.
III. Should necessarily hold office of profit.

Options:

1. = Only I

2. = I, I and III
3.vland II

4. = II and III

Question Number : 74 Question Id : 54592751180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



R o TSeUfd Ug & folv Iogdar & g 7 eafei@a & &
SieT TT Foqel TeT &7

. 98 SgTFd HART T AR BleT ANgT|
I. 35 @ r 3y ot glelr =gl

1. ST T U, gROT TohAT BT AT

Options:

1. % hdel |

2. = |, 1l Tt |l
3. v | aar |l
4. = || Tt Il

Question Number : 75 Question Id : 54592751181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fifth Schedule of the Indian Constitution deals with which of
the following?

Options:

1. » Forms of Oaths and Affirmations

2. » Allocation of seats in the Rajya Sabha

3. = Three lists {(Union, State and Concurrent)

4. v Provisions as to the administration and control of
Scheduled Areas and Scheduled Tribes

Question Number : 75 Question Id : 54592751181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT HIATT T Il STopear et # & faad
S

1. % U AT gfee



2. « JoITAT H IS T 3Tace
3. » ol REAT (@9, ToT dUT FAII)

4. v ai?ﬁj-—%'l?-r &aT 3T agﬂjad STl & TermHeT 3T
Tagaor 8 geardd AradTe

Question Number : 76 Question Id : 54592751182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Voting age was reduced from 21 to 18 years by which of the
following Amendment Act?

Options:

1. v 61st
2. » 60th
3. = 81st
4. = 77th

Question Number : 76 Question Id : 54592751182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Acerel $T 3G 21 & "ert 18 a¥ farafai@ad # & ®ia |
aedel HATHTH & g@rr T &1 a5 o?

Options:

1. v 81 @
2. % 60
3. % 81 @
4, = 77

Question Number : 77 Question Id : 54592751183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



74th Constitutional Amendment Act gave constitutional
recognition to the Municipalities by adding

1. PARTIX A

2. Twelfth Schedule
3.PARTIX B

4. Tenth Schedule

Options:

1. = Both 1 and 3
2. = Only 2

3.vBoth1and?2
4. = Both 3 and 4

Question Number : 77 Question Id : 54592751183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

74 T e ATETH & AIRUITorRI3i hi CIECT
TdeTfersr ATedaT WETe T

1. &1 X A
2. SREAT 3]
3. 19T X B
4. THAT YT

Options:

1. = 1 T 3 g
2. % hael 2

3. v 1 dur 2 gr=r
4. = 3 JUT 4 v

Question Number : 78 Question Id : 54592751184 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Which country won the 2019 Intercontinental Cup of foothall?

Options:

1. = Tajikistan
2. = India
3. » Syria
4. v Korea DPR

Question Number : 78 Question Id : 54592751184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Bediol T 2019 Felhliceaicel FT fohel 22T o SIcr?

Options:

1. % JolTehEdTe

2. » HANd
3. % HINET
4. v PET BALAR

Question Number : 79 Question Id : 54592751185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which team won Indian Premier League (IPL) title in 2019?

Options:

1. = Kolkata Knight Riders
2. * Chennai Super Kings
3. v Mumbal Indians

4. = Delhl Daredevils

Question Number : 79 Question Id : 54592751185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & IPL =7 =& STda aTell &TH Shiaar &7

Options:

1. *= Rlolehldl al5c USSH




2. » Joals W Fhew
3.&?:&3%'5*’%?‘31'?
4. = feeolr 3A3AeH

Question Number : 80 Question Id : 54592751186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which tennis player was recently fined 10,000 Dollars for
damaging Wimbledon court?

Options:

1. v Serena Williams

2. = Simona Halep
3. » Maria Sharapova
4. = Naomil Osaka

Question Number : 80 Question Id : 54592751186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁméﬁm%ﬂﬁwmﬁrﬁﬁﬁﬁaﬁéaﬁg*wﬂ qémﬁ
& Telw 10,000 STe” 1 ojja-ﬁaﬂ T T I T 2AT?

Options:

1. v ST faferag
2. = AT gy

3. = AT erRTdar
4, = STITHT 3ETRT

Arithmetic Ability1
Group Number : 5
Group ld: 5459272535
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459272535
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273041
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592751187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of (2?23—27—2 3)?

Options:

1. v 82/9
2. % 83/9
3. = 84/9
4. = 85/9

Question Number : 81 Question Id : 54592751187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(2723 + 272) 71 AT 4T 87

Options:

1. v 82/9
2. = 83/9
3. = 84/9
4. = 85/9



Question Number : 82 Question Id : 54592751188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Highest Common Factor and Least Common Multiple of
two numbers are 16 and 240 respectively. What can be the
numbers?

Options:

1. = 40 and 48
2. » 60 and 72
3. = 60 and 84
4. v 48 and 80

Question Number : 82 Question Id : 54592751188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ol HEATT T Agedd FATIATS TAT TECATH FHTTACT FHAT:
16 T 240 &| &IV FAT & ehal &7

Options:

1. = 40 T 48
2. = 60 dur /2
3. = 60 dur 84
4. v 48 AT 80

Question Number : 83 Question Id : 54592751189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of - + : +3><l><l E ?
11x11x11 9x9x9 11 9199

Options:

1. = 39600

2. % 11979

3. v 8000/970299
4. » 400/9801



Question Number : 83 Question Id : 54592751189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 1 1 E[ 20
3 (

+ e ol [
11x11x11 9x9x9 ~ 11 9 gg}ﬂmmﬁ?

Options:

1. = 39600

2. = 11979

3. v 8000/970299
4. = 400/9801

Question Number : 84 Question Id : 54592751190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of [%JF%T_[%_%T?
Options:

1.1

2.+ 1/32

3. % 1/16

4. = 1128

Question Number : 84 Question Id : 54592751190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Vo AT (1 LY
R 1 s 1g ) T AT FT &2

Options:

1. % 1
2. v 1/32
3. = 1/16
4. = 1/128

Question Number : 85 Question Id : 54592751191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If two numbers are in the ratio of 1 : 3 and their Highest
Common Factor is 12, then what can be these two numbers?

Options:

1. = 10 and 30
2. % 20 and 60
3.v12 and 36
4. = 10 and 48

Question Number : 85 Question Id : 54592751191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Il ar HEAW 1 @ 3 o e[ H § AT 3eTehl Hgcol#
ATA 12 &, dF I§ & &ATC AT & Tohdl &7

Options:

1. = 10 2T 30
2. = 20 o1 60
3. v 12 dur 36
4. = 10 qur 48

Question Number : 86 Question Id : 54592751192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of two numbers is 4 : 5 and their Highest Common
Factor 1s 5. What will be the Least Common Multiple of these
two numbers?

Options:

1. = 80
2.+ 100
3. =70
4. % 60

Question Number : 86 Question Id : 54592751192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



el HEAT3 T 36Tl 4 : 5 § AT 3ofehT Agcdd FATIGS 5 &
| BoT ST TG FT ofgcdH TATIIA FIT Bam?

Options:

1. = 80
2. v 100
3. = /0
4. = 60

Question Number : 87 Question Id : 54592751193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of ]_1 1_1 1_1 1_i I_L -
3 4 5 99 100 )

Options:

1. v 1/50
2. % 1/49
3. % 1/55
4. = 1/40

Question Number : 87 Question Id : 54592751193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S W—

Options:

1. ¢ 1/50
2. = 1/49
3. = 1/55
4. = 1/40

Question Number : 88 Question Id : 54592751194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



(0.064 —0.008)(0.16—0.04)
(0.16 +0.08 +0.04)(0.4 +0.2)°

What is the value Df\/

Options:

1.+ 1/3
2. % 1/5
3. % 1/2
4. % 1/6

Question Number : 88 Question Id : 54592751194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o AT T 87

(0.064 —0.008)(0.16 — 0.04)
(0.16 + 0.08 + 0.04)(0.4 + 0.2)°

Options:
1. ¢ 1/3
2. % 1/5
3. % 1/2
4. = 1/6

Question Number : 89 Question Id : 54592751195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the simplified value of =1+

o ]1 ?

1+ —

1+l

2

Options:

1.+ 13/8
2. % 13/5
3. = 15/8
4. = 15/7

Question Number : 89 Question Id : 54592751195 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

1
1+ —————— &1 \Xelihd Al FT §7
1+ —
1
1+—]
1+—
Options:
1. v 13/8

2. = 13/5
3. = 15/8
4. = 1517

Question Number : 90 Question Id : 54592751196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3
0.25
What is the value of {1 :::7; +{0.75+(0.75)* +13?

Options:

1. % 2.475
2. % 2.5
3. v 2.327
4. % 3.5

Question Number : 90 Question Id : 54592751196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.25)°
1.075

+4{0.75+(0.75)% + 1} &1 AT F=T 37

Options:

1. = 2475
2. % 2.5
3. v 2.327
4. = 3.5

Question Number : 91 Question Id : 54592751197 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Average distance covered by a man for Monday and Tuesday
i1s 22 km and for Tuesday and Wednesday the average
distance 1s 17 km. If the average distance covered by him in 3
days i1s 16 km, then how much distance did he cover on
Tuesday?

Options:

1. v 30 km
2. % 14 km
3. % 28 ki
4. % 16 km

Question Number : 91 Question Id : 54592751197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AATR 3 FAITGAR T Teh TEAT SgRT T T T2 3T i
22 for. AT § T HITeER 3R gUar ® aF Hr g e gf
17 frAT &1 3 3 &a # 38 g@r a3 &1 a5 3iad gir 16
fR.AL &, a1 39 FATe@R T fohcleil gt a3 1 §7?

Options:

1. v 30 for.AT
2. = 14 fR.AY
3. = 28 fR.AT
4, = 16 TR.AY.

Question Number : 92 Question Id : 54592751198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There are 13 consecutive odd numbers. If the average of first
7 numbers is X, then what is the average of last 6 numbers?

Options:

1. vX+13



2. X +10
3. X+7
4 % X +12

Question Number : 92 Question Id : 54592751198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

13 sFATTT a7 g&ae g1 Ifg ggelr 7 F&Im3 &1 3daa X
&, ar 3fax 6 gEAT3 1 Aaa =T &7

Options:

1. v X + 13
2.« X + 10
3. » X+ 7
4. = X + 12

Question Number : 93 Question Id : 54592751199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 21 consecutive natural numbers, the average of last 9
numbers is 37. What is the average of all 21 numbers?

Options:

1. = 34
2.v 31
3. % 35
4. % 39

Question Number : 93 Question Id : 54592751199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

21 AR rhide I3l H, 3faA 9 FEI3 FT 39T 37 &
| T 21 gEIT3 T aa F=21T &7

Options:

1. = 34




2. v 31
3. = 35
4. = 39

Question Number : 94 Question Id : 54592751200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 40% of A is added to 40% of B, then the result will be same
as 60% of B. A 1s what percentage of B?

Options:

1. v 50 percent
2. % 75 percent
3. = 60 percent
4. = 70 percent

Question Number : 94 Question Id : 54592751200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If A T 40%, B & 40% A g RIr a7 & Y aRomAE B &
60% & TATA BT A, B T Frder wiaera &7

Options:

1. v 50 wfcrerd
2. = 75 yfaerd
3. = 60 wfcrerd
4, = 70 gfaerd

Question Number : 95 Question Id : 54592751201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If price of sugar is decreased by 80%, then a consumer can
purchase 160 kg more sugar for Rs 4000. What is the reduced
price of sugar?

Options:



1. v Rs 20/kg
2. « Rs 25/kg
3. » Rs 80/kg
4. = Rs 60/kg

Question Number : 95 Question Id : 54592751201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg el & Heg 1 80% & FA HT &1 Srar &, ar v
3TeeFaT 4000 9 A 160 Fam. 39+ ey =g g&ar &I
Eﬁ?ﬁ‘ch‘r'r:l'c':rgaﬂ Hed T &7

Options:

1. v 20 393/ T
2. % 25 %9/ Th.am.
3. = 80 ®A/ Teh.am.
4., = 60 BT /fr.3T.

Question Number : 96 Question Id : 54592751202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A bag contains red, blue and yellow balls in the ratioof 5: 7 :
12. Red balls are increased by 20% and Blue balls are also
increased by 20%. By how much percent should yellow balls
be increased/decreased so that the total number of balls
increases by 10%?

Options:

1. = 10% Decrease
2. * 12.5% Decrease
3. = 5% Increase

4. v No change

Question Number : 96 Question Id : 54592751202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk et H e, ailel TAT Grel WT kT A 50 7 1 12 K IeqreT
H &I ofTel 3ar sl 20% & &1 f&Im a7 & a«r Arelr 3iar i 7
20% & ser fear amar &) dver o1 #T diEt Fr fRae wfaea @
SSTIN/ECRIT ST dIgT dTfeh ﬁa’f@rghoi a&ar 10% & §¢
SITa?

Options:

1. = 10% <h&AT

2. = 12.5% AT

3. = 5% gieg
4.%@%%?‘!?[@

Question Number : 97 Question Id : 54592751203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If an article is sold at a loss of 20%, then what is the
respective ratio of cost price and selling price of the article?

Options:

1.+v5:4
2.%3:4
3.x4:5
41 %4:3

Question Number : 97 Question Id : 54592751203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I Uk axg H 20% kI BIfel 9T ST SITAT &, O 9% & F7
Hed T AT Hed T AT 3Hequld FT &7

Options:

1.+ 5 : 4
2. % 3 : 4




3. = 4:5
4. = 4 : 3

Question Number : 98 Question Id : 54592751204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person sold a pen at 5% profit. If the selling price of pen Is
increased by Rs 9 and cost price is decreased by 10%, then he
would have earned a profit of 20%. What is the initial cost
price of the pen?

Options:

1. = Rs. 430
2. % Rs. 120
3. = Rs. 150
4. v Rs. 300

Question Number : 98 Question Id : 54592751204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh STdd o Teh U &l 5% & o WX a3l Il o =1 Do
Aed 9 39 & ST -7 § JUT % HeF 10% & FA fhar
AT &, 1 38 20% T oA BIdTI Ol T JRHAF FT oI 0

g7

Options:

1. = 450 39
2. % 120 T
3. = 150 9
4. v 300 39

Question Number : 99 Question Id : 54592751205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A person bought 50 pens at the rate of Rs 50 per pen. He sells
40 pens at a loss of 5%. If profit of 10% is earned on the all
pens together, then what will be the gain percentage on the
remaining 10 pens?

Options:

1. = 15 percent
2. » 40 percent
3. = 50 percent
4. v 70 percent

Question Number : 99 Question Id : 54592751205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh egf&d o 50 9 50 9 Ufd 9T &7 &7 & TN ag§ 40
el 5% I lfdl OT SaT gl Ife T daf W THemRy 10% T
T SFATIAT 31T &, aF AF 10 UeT UT oTH UTaelrd AT BleT?

Options:

1. = 15 wfaera
2. % 40 wiaerd
3. = 50 gfaera
4. v 70 uiaera

Question Number : 100 Question 1d : 54592751206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If 3a =2b=12¢c,then whatisa:b:c?

Options:

1.+v4:06:1
2.%1:2:3
3.53:4:6
4.=26:5:1



Question Number : 100 Question Id : 54592751206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife 3a=2b=12c & ara:b:cFarg?

Options:

1. v 4
2. % 1
3. =

4. % 6 :

e
g B~ N0
oy W

Arithmetic Ability?2
Group Number : 6
Group Id: 5459272536
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459272536
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number : 1
Sub-Section Id: 5459273042
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592751207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sum of money is divided among three friends A, B and C in
the ratio of 9: 4 : 7 respectively. If C got Rs 360 less than the
sum of A and B, then how much money did A receive?

Options:

1. v Rs. 540
2. % Rs. 420
3. = Rs. 480
4. = Rs. 600

Question Number : 101 Question Id : 54592751207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk ST AT FAT: T Al A, B3R CF Fa 9 4 7 &F
Ul # faentaia foram Siam &1 Ife C &1 A Ja1 B & 3t
d 360 3UF A THod &, dr A Tohdel 39 wIed &=IdT 87

Options:

1. v 540 92
2. % 420 39
3. = 480 T4
4, = 600 ¥

Question Number : 102 Question Id : 54592751208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ratio of incomes of P and R is 4 : 5 respectively. The sum
of their expenditure is Rs 12000 and savings of P is same as
that of the expenditure of R. What is the sum of their savings?

Options:

1. = Rs. 12000
2. * Rs. 10000
3. v Rs. 15000



4. = Rs. 16000

Question Number : 102 Question Id : 54592751208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P dUT R T 3 FT 37U FAT: 4 : 5 Bl 3Tk 7T FT I
12000 39d & AT P T §9d, R & &9 o sIe g1 3eTehl
ST HT JIET F4T &7

Options:

1. = 12000 392
2. = 10000 &9
3. v 15000 39
4. = 16000 Ty

Question Number : 103 Question Id : 54592751209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In how many years will a sum of Rs. 8000 give compound
interest (compounding annually) of Rs 7680 at the rate of 40%
per annum?

Options:

1. v 2 years
2. % 3 years
3. = 4 years
4. % 1 year

Question Number : 103 Question Id : 54592751209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR 8000 9 T TfEr 40% ufaad &r g7 O forder @l &
7680 %9 T THglG ATl (AR HITolel W) I

Options:

1. v 2 @y




2. = 3 ay
3. = 4 ay
4, = 1 ay

Question Number : 104 Question Id : 54592751210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The compound interest on a certain sum for 2 years at the
rate of 10% per annum is Rs. 1260. What is the simple interest
on the same sum for 3 years?

Options:

1. » Rs. 2000
2. » Rs. 1860
3. v Rs. 1800
4. = Rs. 1820

Question Number : 104 Question Id : 54592751210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U feifead ey o 10% 9fday $r T 2 a¥ & folv =wshgla
STST 1260 U &1 AT T W 3 ¥ & olv STarRoT st

T 87

Options:

1. = 2000 &9
2. = 1860 ¥I
3. v 1800 =9
4. = 1820 ¥

Question Number : 105 Question Id : 54592751211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



One third of a certain sum is Kept at 21% rate of interest. 3/5
of the remaining sum is kept at 20% rate of interest. The
remaining sum is kept at 15 % rate of interest. If the simple
interest on the total sum for 2 years is Rs. 152, then what is
the sum?

Options:

1. v Rs. 400
2. » Rs. 460
3. #= Rs. 380
4. % Rs. 420

Question Number : 105 Question 1d : 54592751211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh T T2 T Tk - 8B 21% ST &8 9 TE&T AT gl
Ay T k7 3/5, 20% sITST &T 9T TTT 34T gl AT [TEr Fr
15% SITST o W TFT 37 & Iic 2 a¥ & v For i W
ATYROT sgTeT 152 ®94 &, ar TTEr 4T g7

Options:

1. v 400 92
2. = 460 39
3. = 380 T4
4, = 420 ®9F

Question Number : 106 Question Id : 54592751212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mohit covers a distance of 45 km in 5 hours. What is the
speed of Mohit?

Options:

1. = 45 metre/minute
2. % 25 metre/minute



3. » 120 metre/minute
4. v 150 metre/minute

Question Number : 106 Question Id : 54592751212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Afgd 45 TR.AL $1 v gl & 5 ¢ # T HaT g1 Afgd
afa =T &7

Options:

1. = 45 HielA«c
2. = 25 Areyfaac
3. = 120 #Arey/fAae
4. v 150 HAeyAae

Question Number : 107 Question Id : 54592751213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A boat covers 30 ki upstream and 50 km downstream
distance in 5 hours, while it covers 60 km upstream and 50
km downstream distance in 8 hours. What is the speed of the
current?

Options:

1. v 7.5 Kim/hr
2. » 8 km/hr
3. = 8.5km/hr
4. = 7T km/hr

Question Number : 107 Question Id : 54592751213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U ofrg 30 Toh.AL ORT & ufdeher dor 50 FRAT. amr &
Halshel g1 5 €& A TF FIT g, Soieh Ig 60 Th.Al amr &
vicieher 2 50 foh.#T. ORI & 3felehel YT 8 €& H T FIcT g
T bl 1T 4T 87

Options:

1. v 7.5 for.AL/aeT
2. = 8 fr.dArfaer
3. = 8.5 fr.dAn/Eer
4. = 7 fr.dArfaer

Question Number : 108 Question Id : 54592751214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man rows to a place 60 km away and comes back in 10
hours. He can row 40 km downstream or 20 km upstream in
same time. What is the speed of the stream?

Options:

1. v 4.5 km/hr
2. 5 km/hr
3. = 3.5 km/hr
4. = 6 km/hr

Question Number : 108 Question Id : 54592751214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh i Ald G@RT 10 8¢ A Tk 60 fh. Al g TAT 9T e
& TUT IIH AT ¥ g8 URT F elhe 40 HAT srgar an
& vfcpel 20 TR AY. AT TAT A ST Fehell &1 URT T 1T
T &7

Options:

1. v 4.5 R.AY.[AeT




2. = 5 feR.ALfaeT
3. = 3.5 fr.A/EeT
4. = 6 for.#Afaer

Question Number : 109 Question Id : 54592751215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2 and P3 alone can complete a work in 10, 12 and 15
days respectively. In how many days will they together
complete the same work?

Options:

1. = 5 days
2. » 6 days
3. v 4 days
4. = 3 days

Question Number : 109 Question Id : 54592751215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

P1, P2 gaT P3 37hel Ush KT I A 10, 12 T 15 f&ar
H O Y T &1 a8 Ty fFee 39 15 & fhae e &
Options:

1. = 5 &
2. % 6 fae
3. v 4 e
4. » 3 fea

Question Number : 110 Question Id : 54592751216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Two pipes P1 and P2 can fill an empty tank in 4 hours and 5
hours respectively. Pipe P3 alone can empty the completely

filled tank in 6 hours. First both pipes P1 and P2 are opened
and after 2 hours pipe P3 is also opened. In how much time

tank will be completely filled?

Options:

1. = 3 hours

2. » 38/17 hours
3.+ 40/17 hours
4. = 26/9 hours

Question Number : 110 Question 1d : 54592751216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar UEY P1 duT P2 TF HTell &h & hAM: 4 T I 5 6 H
mmﬁm‘%ﬂrmmwm?é’?aﬁea’%ﬁm
FT hdl &1 Tga alel ST P1 gur P2 & Tl Srdm & |
deT 2 O 9§ 99 P3 T el ST &1 & fohdd ag A
3T ST

Options:

1. = 3 T

2. = 38/17 @
3. v 40117 @&
4. = 26/9 T

Question Number : 111 Question Id : 54592751217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



X1 1s twice as good a workman as X2 and X2 is thrice as good
a workman as X3. If X1, X2 and X3 together can finish a work
in 3 days, then X1 alone can complete the same work in how

many days?

Options:

1. = 6 days
2. v 5 days
3. = 4 days
4, = 7{2 days

Question Number : 111 Question Id : 54592751217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X1, X2 @ ST FEF & q&U X2, X3 F el TAT FEBR
gl afe X1, X2 Jur X3 @ fAee v &1 $r 3 foall & @
T Fhd g, d X1 37hell 3UT HT AT fohcdal &l H [ HT
GehdT &7

Options:

1. = 6 e
2. v 5 f&af
3. % 4 fea1
4. = 7/2 faa

Question Number : 112 Question Id : 54592751218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the length of the diagonal of a square is 12 cm, then what is
the area of the square?

Options:

1 J 72 cm?



4w 1442em?

Question Number : 112 Question Id : 54592751218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

It voh gat & faerot $r e 12 @A &, ar gef &1 9w
AT E?

Options:
1. » 7T28#°
2w 1447F

3 22T

4. % 14472 A

Question Number : 113 Question Id : 54592751219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of the right circular cylinder is twice of its height.
If the height of the cylinder is 3.5 ¢cm, then what is the volume
of cylinder?

Options:



1' “ 1078 cm?’
539 cm?
2

3« 808.5 cm?

A w 679cm’

Question Number : 113 Question Id : 54592751219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk ofFs MR dolel kI [Fear 3Tehr 318 & a9l &1 afq

Solel shl 315 3.5 AT &, dl Solel T AT AT &7

Options:

1078 §.#.3

2 o S3o@a

808.5 T.HT.2

4w 679TA

Question Number : 114 Question Id : 54592751220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three cubes of metal whose sides are 3 cm, 4 cm and 5 ¢cm
respectively are melted and converted into a single cube. If
there is no loss of metal in this process, then what is the
length of the side of the new cube?

Options:

1. = 8 cm
2. % 64/2 cm
3.v,b6Ccm
4. % 8/2 cm

Question Number : 114 Question Id : 54592751220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U1 & el Tel oTereht 97T shaver: 3 @LAT, 4 QAL To7 5 4.
AT, & 1 MOgT =T & JuT U Ushd gd A gRaidd foar
W%laﬁsﬁuﬁmﬁmgmaﬂéwaﬁgmaﬁ
oI ©el T 8T T oaTg AT &7

Options:

1. = 8 H.A
2. % 62 T.HT.
3. v 6 @A
4. = 8/2 &

Question Number : 115 Question Id : 54592751221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of books published
by a publication house in 5 consecutive years.

Year | Number of Books
¥1 30
Y2 42
Y3 46
Y4 40
¥5 50

What is the percentage increase in the number of books
published from Y1 to Y57

Options:

1. v 66.66 percent
2. % 33.33 percent
3. = 50 percent
4. = 75 percent

Question Number : 115 Question 1d : 54592751221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



i &1 IRiT IferehT Uk WeRTRIST Z@RT 5 AR aul & WeRITET
TordTel 1 F&TT I geTdr &

T§ | fRareT $r gEar
Y1 30
Y2 42
Y3 46
Y4 40
Y5 50

Y1 & Y5 Tk wehitela Tordmey T a&ar & forder wiaera o

Options:

1. v 66.66 wfcera
2. = 33.33 wfcerda
3. % 50 wfaerd
4. % 75 wiaerd

Question Number : 116 Question Id : 54592751222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of marriages
attended by a family in different months of a year.

Months | Number of marriages
M1 24
M2 28
M3 22
M4 23
M5 27

The number of marriages attended in month M1 is what
percentage of number of marriages attended in month M5?

Options:

1. = 82.88 percent
2. » 84.88 percent
3. » 86.88 percent
4. v 88.88 percent

Question Number : 116 Question Id : 54592751222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A &1 =Y arfereeT v a¥ & Bffied A # v TRaEr
ZdNT ATeT Torv 910 faamgh hr a&ar #r geriar gl

Hig=T faamer & @
Y1 24
Y2 28
Y3 22
Y4 23
Y5 27

AR M1 # #1167 o0 310 STt sl 96T Afgar M5 # #TeT
fore arv fEarel &1 a&aT Hr Thder ufdera §7?

Options:

1. = 82.88 wigera
2. % 84.88 ufderd
3. = 86.88 wfcrerd
4. v 88.88 ufaerd

Question Number : 117 Question 1d : 54592751223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of utensils sold by
the shopkeeper on different days of a week.

Days Number of utensils
D1 25
D2 30
D3 36
D4 40
D5 44

What is the average number of utensils sold by the
shopkeeper per day?

Options:

1.+ 35
2. % 37
3.% 38
4, % 40

Question Number : 117 Question Id : 54592751223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sl a1 a7 dArfelshT Uk Toctg & faffes feal o gFhrerer
SART o IR Sciall hl HEAT I ST o

e TaaT Fr gEar
Dl 25
D2 30
D3 36
D4 40
D5 44

il feeT gehleler SarT & a1 sclell T A dear Far &7

Options:



1. v 35
2. = 37
3. % 38
4. = 40

Question Number : 118 Question Id : 54592751224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the number of bananas sold
by a seller on different days of a week.

600 4 560
500 1
400 1

3_'.'
300 4 210
200 1
100 1 ﬂ
0 - T
D1 D2

MNum ber of hananas

460
0
2 D3 D4
Day

What are the total number of bananas sold by the seller in all
the days together?

Options:

1. = 400
2. % 800
3. % 1200
4. v 1600

Question Number : 118 Question 1d : 54592751224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dArd fear =T gus T U @odig & afded f&all # T [aehdar
ZANT S AT el T GEAT I SRTAT &

600 - 560
E 500 460
" 400 70
€ 300 - i
T 200 -

100 H

0 : : :
DI D2 D3 D4
=

TeAT ot & THemRT fashar S@rT s a0 hell T Hel TE&
FAT 57

Options:

1. = 400
2. = 800
3. = 1200
4. v 1600

Question Number : 119 Question Id : 54592751225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of bottles
manufactured by a company on different days of a week.

500 - 450
n T |
= 400 4 370
E 0 300 310
< 300 1
5 200
2 100 -

'D T T T 1
D1 D2 D3 D
Day

What is the average number of bottles manufactured by the
company per day?

Options:

1. = 351.5
2. % 35415
3.+ 3575
4. = 360.5

Question Number : 119 Question Id : 54592751225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dArd feIT =T gus ™T U Todig & afded ol # Tsh el
gary fAfAa & ot Sigat $r dear o geifar &l

500 - 450
E 400 200
. 300 310
300 A
%
':E 200 4
100
ﬂ‘ T T T 1
D1 D2 D3 D4
=

F9aAT g@RT Ufa faa AfAT Fr o=l siael $r e g&ar
&7

Options:

1. = 351.5
2. = 35415
3. v 357.5
4. = 360.5

Question Number : 120 Question Id : 54592751226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of soap packets
manufactured by a company on different days of a week.

Number of soap pack
= by L Ea
o 2 = 2
(= = B = R = N =
Y R S R -

D

300
180
100
L2 D3 L
Day

What is the percentage decrease in the number of soap

packets manufactured by company on day 4 as compared to
day 1?
Options:

1. v 79.59 percent
2. » 81.51 percent
3. = 83.59 percent
4. = 85.59 percent

Question Number : 120 Question Id : 54592751226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



dArd feIT =T gus ™T U Todig & afded ol # Tsh el
caNT AT TTeel & Yshel 1 dEar it gufdr &

600 -
E 500 - 4520
b 400
300
E 300 -
150
& 200 -
= 100
E_, 100 ﬂ
0 ; . : :
Dl D2 D D4

=

feet 1 1 Jolem & &7 4 9T F9el @RI il @reer & Yevel
@rmﬁﬁmﬁmmaﬂﬁ_@éﬁ?

Options:

1. v 79.59 ufcrera
2. % 81.51 wfderd
3. = 83.59 wfcerd
4. % 85.59 wfcerd

General Englishi
Group Number : 7
Group Id : 5459272537
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459272537

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459273043
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592751227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

If1 you, I would have invited him to the party.

Options:

1. = was
2. % am
3. = are
4, v were

Question Number : 121 Question Id : 54592751227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

If | you, | would have invited him to the party.
Options:
1. = was

2. % am



3. % are

4. v were

Question Number : 122 Question Id : 54592751228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

The thief with the stolen money.

Options:

1. v absconded
2. = lingered
3. = abided

4. = secluded

Question Number : 122 Question Id : 54592751228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

The thief with the stolen money.

Options:

1. v absconded
2. % lingered
3. ® abided

4. = secluded

Question Number : 123 Question Id : 54592751229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

He has always her success, because he could not
become as successful.

Options:

1. = acknowledged
2. v envied

3. » commended
4. = eulogised

Question Number : 123 Question 1d : 54592751229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

He has always her success, because he could not

become as successful.

Options:

1. = acknowledged
2. v envied
3. ¥ commended

4. = eulogised

Question Number : 124 Question Id : 54592751230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I have not her for some time.

Options:

1. = saw
2. % see

3. v seen
4, % sees

Question Number : 124 Question Id : 54592751230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| have not her for some time.

Options:

1. = saw
2. % see
3. ¥ seen

4. %= sees

Question Number : 125 Question Id : 54592751231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Saurabh wanted to know when I

Options:

1. = came



2. « had came
3. x have come
4. v had come

Question Number : 125 Question Id : 54592751231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Saurabh wanted to know when |

Options:

1. = came
2. # had came
3. * have come

4. v had come

Question Number : 126 Question Id : 54592751232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Rishab set the book and started playing games.

Options:

1. = off
2. v aside
3. = apart
4. = out

Question Number : 126 Question Id : 54592751232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Rishab set the book and started playing games.

Options:

1. = off
2. v aside
3. ® apart
4. = out

Question Number : 127 Question Id : 54592751233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

The police (1)/ was looking (2)/ for the thief (3)/. No error (4)

Options:

1. %1
2. % 2
3.3
4, 4

Question Number : 127 Question Id : 54592751233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

The police (1) was looking (2)/ for the thief (3)/. No error
(4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 128 Question Id : 54592751234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there is no error, choose ‘No error’.

He dare (1)/ not punish (2)/ the child (3)/. No error (4)

Options:

1. =1
2. % 2
3.3
4.4

Question Number : 128 Question Id : 54592751234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

He dare (1)/ not punish (2)/ the child (3)/. No error (4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 129 Question Id : 54592751235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

I hope you (1)/ will excuse my (2)/ coming late (3)/. No error (4)

Options:

1. %1
2. % 2
3.3
4, 4

Question Number : 129 Question Id : 54592751235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

| hope you (1)/ will excuse my (2)/ coming late (3)/. No

error (4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 130 Question Id : 54592751236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Make no bones about it

Options:

1. = Confess to the act

2. = One’s stand or argument

3. = To leave something incomplete
4. v To make no fuss

Question Number : 130 Question Id : 54592751236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

Make no bones about it

Options:

1. = Confess to the act
2. » One’s stand or argument
3. = To leave something incomplete

4. v To make no fuss

Question Number : 131 Question Id : 54592751237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

One who is filled with excessive enthusiasm in religious
matters

Options:

1. » Endorser
2. * Amateur
3. = Adversary
4. v Fanatic

Question Number : 131 Question Id : 54592751237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

One who Is filled with excessive enthusiasm in religious

matters

Options:

1. = Endorser
2. = Amateur
3. # Adversary

4. v Fanatic

Question Number : 132 Question Id : 54592751238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A keeper or custodian of a museum or other collection

Options:

1. = Attendant
2. » Bohemian
3. = Dabbler
4. v Curator

Question Number : 132 Question Id : 54592751238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A keeper or custodian of a museum or other collection

Options:

1. = Attendant



2. = Bohemian
3. = Dabbler

4. v Curator

Question Number : 133 Question 1d : 54592751239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Fear of being egotistical, being alone or isolated

Options:

1. = Claustrophobia
2. = Dipsophobia
3. v Autophobia
4. = Cacophobia

Question Number : 133 Question Id : 54592751239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Fear of being egotistical, being alone or isolated

Options:

1. = Claustrophobia
2. » Dipsophobia
3. v Autophobia
4. = (Cacophobia

Question Number : 134 Question Id : 54592751240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

While there are many

P: ritual an adult Hindu undertakes

Q. festival-related rituals in Hinduism,

R: vivaha (wedding) is the most extensive personal

Options:

1. * RPQ
2. » QPR
3.« PQR
4, v QRP

Question Number : 134 Question Id : 54592751240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

While there are many
P: ritual an adult Hindu undertakes
Q: festival-related rituals in Hinduism,

R: vivaha (wedding) Is the most extensive personal

Options:

1. = RPQ
2. = QPR
3. = PQR
4. v QRP

Question Number : 135 Question Id : 54592751241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. * Romour
2. v Rumour
3. *» Rumar

4. = Rumwor

Question Number : 135 Question 1d : 54592751241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. = Romour
2. v Rumour
3. * Rumar

4. = Rumwor

Question Number : 136 Question Id : 54592751242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a synonym — antonym pair?

Options:

1. v abate — grow

2. = abject — pitiful

3. » abandon — discontinue
4. = abjure — renounce

Question Number : 136 Question Id : 54592751242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s a synonym - antonym pair?

Options:



1. v abate - grow

2. = abject - pitiful

3. = abandon - discontinue
4,

* abjure - renounce

Question Number : 137 Question Id : 54592751243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

PRECISE

Options:

1. = expansion
2. v decisive

3. #= Increment
4., = quit

Question Number : 137 Question Id : 54592751243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the word that means the same as the given word.

PRECISE

Options:

1. = expansion
2. v decisive
3. = Increment
4, = quit

Question Number : 138 Question 1d : 54592751244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that means the same as the given word.

TIMID

Options:

1. v coward
2. = bold

3. » intrepid
4. = crowd

Question Number : 138 Question Id : 54592751244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

TIMID

Options:

1. v coward
2. = bold

3. = Intrepid
4. = crowd

Question Number : 139 Question Id : 54592751245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Dipu said that he (shall bought) a pen

Options:

1. v had bought
2. = will have bought
3. * has bought



4. = No Improvement

Question Number : 139 Question Id : 54592751245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Dipu said that he (shall bought) a pen

Options:

1. v had bought
2. = will have bought
3. = has bought
4, = No Improvement

Question Number : 140 Question 1d : 54592751246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Preetl was (rewarded on) her bravery.

Options:

1. = been rewarded for
2. v rewarded for

3. » rewarded by

4. » No Improvement

Question Number : 140 Question Id : 54592751246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Preeti was (rewarded on) her bravery.

Options:



1. = been rewarded for

e,

v rewarded for

* rewarded by

A

* No |Improvement

General English?
Group Number : 8
Group Id: 5459272538
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section Id : 5459272538

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459273044
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 54592751247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

My father did not (approve with) his plan.

Options:



1. v approve of

2. = approve within
3. = approve by

4. » No Improvement

Question Number : 141 Question Id : 54592751247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

My father did not (approve with) his plan.

Options:

1. v approve of

2. * approve within
3. ® approve by

4. = No Improvement

Question Number : 142 Question Id : 54592751248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

I have been whether you like coffee.

Options:

1. » wondered

2. » wonder

3. v wondering
4. = wandering if

Question Number : 142 Question Id : 54592751248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

| have been whether you like coffee.

Options:

1. = wondered
2. = wonder

3. v wondering
4. = wandering If

Question Number : 143 Question Id : 54592751249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

She is staying (1)/ with a old (2)/ friend of hers (3)/. No error
(4)

Options:

1. %1
2.v 2
3.% 3
4. %4

Question Number : 143 Question Id : 54592751249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

She 1s staying (1) with a old (2)/ friend of hers (3)/. No

error (4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 144 Question Id : 54592751250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

A cake walk

Options:

1. v A very easy matter

2. = Qut of favour with a superior
3. » At a close distance

4. = An undesirable company

Question Number : 144 Question Id : 54592751250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the Idiom/Phrase.

A cake walk

Options:

1. v A very easy matter
2. » Qut of favour with a superior
3. »= At a close distance

4. = An undesirable company

Question Number : 145 Question Id : 54592751251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

I've been in

P: for 35 years

QQ: practice as a

R: clinical psychologist

Options:

1. v QRP
2. * RQP
3. = PQR
4. » RPQ

Question Number : 145 Question Id : 54592751251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

I've been In
P: for 35 years
Qi practice as a

R: clinical psychologist

Options:

1. v QRP
2. » RQP
3. = PQR
4. = RPQ

Question Number : 146 Question 1d : 54592751252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word

Options:

1. = Cuntry
2. v Country
3. = Countre
4. = Countree

Question Number : 146 Question Id : 54592751252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word

Options:

1. = Cuntry



2. v Country
3. = Countre

4. = Countree

Question Number : 147 Question 1d : 54592751253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is similar in meaning to the given word.

DISDAIN

Options:

1. = courtesy
2. % reverence
3. v disregard
4. = regard

Question Number : 147 Question Id : 54592751253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that 1s similar in meaning to the given

word.

DISDAIN

Options:

1. = courtesy
2. = reverence
3. v disregard
4, = regard

Question Number : 148 Question 1d : 54592751254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

“Hamlet” (are) an interesting play.

Options:

1. » was

2.v18

3. = will be

4. = No Improvement

Question Number : 148 Question Id : 54592751254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

“Hamlet” (are) an interesting play.

Options:

1. = was
2. ¢ IS
3. = will be

4. = No Improvement

Question Number : 149 Question Id : 54592751255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

She was gulilty murder.

Options:

1. v of
2. = for



3. % by
4, = with

Question Number : 149 Question Id : 54592751255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

She was guilty murder.

Options:

1. v of
2. = for
3. = by
4. = with

Question Number : 150 Question 1d : 54592751256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

They was (1)/ not attending (2)/ the meeting (3)/. No error (4)

Options:

1.+1
2. % 2
3.% 3
4. %4

Question Number : 150 Question 1d : 54592751256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

They was (1)/ not attending (2)/ the meeting (3)/. No error
(4)

Options:

1. v 1
2. % 2
3. % 3
4. = 4

Question Number : 151 Question Id : 54592751257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Broken-hearted

Options:

1. * To have an allment

2. = With all one’s belongings

3. v Very sad

4. = To be in a totally helpless condition

Question Number : 151 Question Id : 54592751257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

Broken-hearted

Options:

1. * To have an aillment
2. » With all one’s belongings
3. v Very sad

4. = To be In a totally helpless condition

Question Number : 152 Question Id : 54592751258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Education is not about

P: survive on your own
(Q: getting a degree it IS
R: about how you can

Options:

1. v QRP
2. » PRQ
3. = QPR
4. » RQP

Question Number : 152 Question Id : 54592751258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

Education 1s not about
P: survive on your own
Q) getting a degree it is

R: about how you can

Options:

1. v QRP
2. = PRQ
3. = QPR
4. = RQP

Question Number : 153 Question 1d : 54592751259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Stamach
2. v Stomach
3. = Stomeck
4. = Stamock

Question Number : 153 Question Id : 54592751259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. = Stamach



2. v Stomach
3. *= Stomeck

4. = Stamock

Question Number : 154 Question 1d : 54592751260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that is opposite in meaning to the given
word.

FERTILE

Options:

1. v desolate

2. = quiet

3. = tough

4. = commotion

Question Number : 154 Question 1d : 54592751260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that I1s opposite in meaning to the given

word.

FERTILE

Options:

1. v desolate
2. % quiet

3. # tough

4. = commotion

Question Number : 155 Question Id : 54592751261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Improve the bracketed part of the sentence.

(I gave t0) Leela the box.

Options:

1. = I gave her

2. = [ give to

3. v 1 gave

4. = No Improvement

Question Number : 155 Question Id : 54592751261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

(I gave to) Leela the box.

Options:

1. = | gave her
2. = | give to
3. v | gave

4. = No Improvement

Sub-Section Number: 2
Sub-Section Id: 5459273045
Question Shuffling Allowed : Yes

Question Id : 54592751262 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the
given questions.

Unemployment refers to people not being gainfully employed.
In other words, people do not engage in productive activity
that helps them earn for their living. It is an issue of concern
in countries around the globe. Employment does not refer to
staying active but instead to be employed gainfully. When
people are gainfully employed they also take active part in
the growth, development and progress of the nation in the
positive and desirable direction.

Unemployment is a social ill and leads to many others. Where
there is high unemployment there is a greater disturbance in
society. Cases of murders and rapes are more frequent in
such a society. Likewise, robberies and burglaries are also the
outcomes of high unemployment rates. Addiction to alcohol
and drugs also go up and that leads to many other issues.
When there is unemployment people engage in unlawful or
illicit activities to be able to get the resources to satisfy their
basic needs. It leads to beggary and a poor standard of living.
Unemployed people become lazy and it causes many physical
and mental health conditions. There is an increase in the
number of persons needing psychiatric assistance when there
is a high level of unemployment. People suffer from
depression and the percentage of suicides is also high in a
society where people are unemployed. When the needs and
wants of life are not met, and there seems to be no possibility
of finding a livelihood, people are drawn to end their lives.
The government needs to come up with ways to resolve the
issue of unemployment. More jobs need to be made available
to the youth. The education system too needs to be revamped
so that the educated youth and others are skilled to take up
jobs and find a source of livelihood.



Sub questions

Question Number : 156 Question Id : 54592751263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should the government do to solve the problem of
unemployment?

Options:

1. = Provide financial support to unemployed youth so that
they do not resort to unfair means to earn a livelihood.

2. v Revamp the education system so that the youth can
acquire skill-based knowledge which helps them get good jobs.

3. » Provide one job per household so that the family does not
resort to beggary.

4. = Stop the pensions of retired government officials.

Question Number : 157 Question Id : 54592751264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the word ‘revamp’ mean in the paragraph?

Options:

1. = Deface
2. » Stabilize
3. v Alter

4. = Fix

Question Number : 158 Question Id : 54592751265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the paragraph what does employment refer to?

Options:

1. = To be active and working
2. * To be earning using any means
3. » To not be gainfully employed

4. v To engage in productive and fair activity that helps
people earn



Question Number : 159 Question 1d : 54592751266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not caused by unemployment?

Options:

1. v Class conflicts within the society

2. = Criminal activities like robberies, murders and rapes
3. = Beggary

4. = Mental and physical health conditions

Question Number : 160 Question Id : 54592751267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Dealing with unemployment is important for the
development of a soclety because:

I. Gainfully employed people actively participate in the
progress of the nation.

II. Employment decreases the rate of crimes in a society and
helps establish harmony

III. Employment raises the standard of living and helps
promote physical and mental health.

IV. It has a negative impact on the education system of the
country.

Options:

1. = Il and IV
2. v L 1IIand III
3. = IL IIL, IV
4.« LIIL IV

Question Id : 54592751262 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the

given questions.

Unemployment refers to people not being gainfully
employed. In other words, people do not engage in
productive activity that helps them earn for their living. It is
an issue of concern in countries around the globe.
Employment does not refer to staying active but instead to
be employed gainfully. When people are gainfully employed
they also take active part in the growth, development and
progress of the nation in the positive and desirable direction.
Unemployment is a social ill and leads to many others.
Where there is high unemployment there is a greater
disturbance in society. Cases of murders and rapes are
more frequent in such a society. Likewise, robberies and
burglaries are also the outcomes of high unemployment
rates. Addiction to alcohol and drugs also go up and that
leads to many other issues. When there is unemployment
people engage in unlawful or illicit activities to be able to
get the resources to satisfy their basic needs. It leads to
beggary and a poor standard of living.

Unemployed people become lazy and it causes many
physical and mental health conditions. There Is an increase
in the number of persons needing psychiatric assistance
when there i1s a high level of unemployment. People suffer
from depression and the percentage of suicides is also high
in a society where people are unemployed. When the needs
and wants of life are not met, and there seems to be no
possibility of finding a livelihood, people are drawn to end
their lives.

The government needs to come up with ways to resolve the
issue of unemployment. More jobs need to be made
available to the youth. The education system too needs to
be revamped so that the educated youth and others are

skilled to take up jobs and find a source of livelihood.



Sub questions

Question Number : 156 Question Id : 54592751263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What should the government do to solve the problem of

unemployment?

Options:

1. = Provide financial support to unemployed youth so that

they do not resort to unfair means to earn a livelihood.

2. v Revamp the education system so that the youth can
acquire skill-based knowledge which helps them get good

Jobs.

3. = Provide one job per household so that the family does

not resort to beggary.

4. = Stop the pensions of retired government officials.

Question Number : 157 Question Id : 54592751264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the word ‘revamp’ mean in the paragraph?

Options:

1. = Deface
2. = Stabilize
3. v Alter

4. = Fix

Question Number : 158 Question 1d : 54592751265 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

According to the paragraph what does employment refer to?

Options:

1. * To be active and working



2. » To be earning using any means
3. = To not be gainfully employed

4, v To engage In productive and fair activity that helps

people earn

Question Number : 159 Question Id : 54592751266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following 1s not caused by unemployment?

Options:

1. v Class conflicts within the society

2. » Crnminal activities like robberies, murders and rapes
3. = Beggary

4, = Mental and physical health conditions

Question Number : 160 Question Id : 54592751267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Dealing with unemployment is important for the development

of a society because:

|. Gainfully employed people actively participate in the
progress of the nation.

ll. Employment decreases the rate of crimes In a society
and helps establish harmony

Ill. Employment raises the standard of living and helps
promote physical and mental health.

V. It has a negative impact on the education system of the

country.



Options:

1. = |, I and |V

.« |, Il and Il

2
3. = |, Il IV
4. = 1, 1, IV
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Question Number : 161 Question Id : 54592751268 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

e T SIec &l T Taede FATd By

TEATITH



Options:

1. = Tergrer + M
2. % oY + AT

3. v oY + IMTAT
4. % TYaT + TAT

Question Number : 161 Question Id : 54592751268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 1w esg 7T O RATade AT T

dedldlHel

Options:

1. = T99ar + 3EHA
2. = TY + ITHA

3. v aY + 3MITHeA
4. % FUAT + ITHeT

Question Number : 162 Question Id : 54592751269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T S § UM ATT Hhi=iyl

IR

Options:

1. =9
2.vdT
3. % d15
4«

Question Number : 162 Question 1d : 54592751269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faw v orsg A 39T AT Fiew]

CIET ]

Options:

1. = &
2. v ®T

3. =
4, = &

Question Number : 163 Question Id : 54592751270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T 96 § U FATd hi=y|

Jelshs

Options:

1. = B
2. % hehd
3. = oThs
41, v ARS

Question Number : 163 Question 1d : 54592751270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foU 91T ofsg H Ucdd AT oV
$oTFhS

0
Options:

1. = &g

2. % chohg
3. % olFhs
4. v 3Fhs



Question Number : 164 Question 1d : 54592751271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & § I G G TlH - T DT I g2

Options:

1. * &I - giear
2. % 3MTCHN - 3T
3. v ITCH - TeT
4. = Gr- 81

Question Number : 164 Question 1d : 54592751271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafali@d A & *l A7 oA TcHHA - TR FT 32807 &7

Options:

1. = doler - qfean
2. = 3GAT - 3R
3. v T - 4T
4. = §l - od

Question Number : 165 Question Id : 54592751272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T arerar § TGiThd YT T ThIE BT €I g ATd iyl

BIeT ST T BT O &7 T ATl

Options:

1. = Bter

2. v T
3. % 3@

4, % T

Question Number : 165 Question Id : 54592751272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T a1v gy & YEira 9T R v T B & A
1T

BT §TaT I T 8 T @7 AT

Options:

1. = BT
2. v §TdT
3.« I
4. = ©T

Question Number : 166 Question Id : 54592751273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tow T aTedisr & oIy 3T Uec T Td_ Hileryl

ST QT 9dT g

Options:

1. = UUdH

2. ¢ FATeTdl
3. * BIipaT
4, * TR

Question Number : 166 Question Id : 54592751273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv grearer & folv 3T =g &1 ¥ Hifav)

ST AR Aedr &'

Options:

1. = U9

2. v HAIEard




4, = IBR

Question Number : 167 Question 1d : 54592751274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T a1 & TolT 3T e T T3 Bl

Options:

1. * Sjoitd
2. v NdieT
3. = ZITSIG
4. % FESId

Question Number : 167 Question Id : 54592751274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w Irw greFaTer & ol 3T ofeg &7 IId ShIov]|

forgel 39elr sfgam I S fo=m &

Options:

1. = Seglald
2. v odfeT
3. = Sfegaraid

4. % Fogolld

Question Number : 168 Question Id : 54592751275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e T SIec T ThelI¥ SIec SATd hisgl

I8

Options:



1. = gUAT
2. ¢ Thd

3. % Gl
4, = e

Question Number : 168 Question Id : 54592751275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T v orsg T AT oo AT FiiSvw]

M
Options:

1. = ZOar
2. v Jhe
3. % Gl
4. % olhlsl

Question Number : 169 Question 1d : 54592751276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgleliEd § & g eI+t @7 AT DI

Options:

1. * 3E-ICUTEA
2. * 3cUTEA
3, v 3gIcuTe
4, = ITFIcuTeIm

Question Number : 169 Question 1d : 54592751276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁaﬁaﬁ?ﬁww%ﬁm

Options:

1. %= 3eTallcHTCe




2. % 3Tlcarga

3. v 3ealcuTge

4. % 3 eallcUTeul

Question Number : 170 Question Id : 54592751277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MATCId § & DI IT e, I [T U6, 00 572

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. ST - IR
2. &dr - daar
3. 9T - BRI
4,3 - IR

Question Number : 170 Question 1d : 54592751277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArai@T & & FiT AT eeg JIA Jelder s, JIA &7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 3T - FLhe
2. 3ar - aadr

3. R - BT

4, & - AR

Question Number : 171 Question Id : 54592751278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ TQ arer # JUYeh <Tec;, DI AT e [eh T Dl Yid DIl

IS T &7 ZIaT 3l

Options:

1. v AR



2. % UH
3. * Higesd
4. %@

Question Number : 171 Question Id : 54592751278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fow 7w g A& 3YYFT e, T TI Flh [ TuTeT ST gid
FIeIT]

FAoTS T o7 gl &

Options:

1. v EFR
2.
3. » HIgssd
4,

Question Number : 172 Question Id : 54592751279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ Y ey § SUGeh e, DT AT dhieh T¥eh AT hl Yiet ol

ST&T 3rvhiehT & TR STt I MY

Options:

1. = IaT
2. v ddleld
3. = Jpd
4. % T[T

Question Number : 172 Question 1d : 54592751279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feU 910 areFT 7 UG Weq T T Flah el FATeT hr it
%Iiﬁl@l

STETOT 3TTRIRT & aMedT ST Fla AT

Options:

1. = gar
2. v derleld
3. = alT
4. = Tod

Question Number : 173 Question Id : 54592751280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tow T aTedisr & oIy 3T Uec T Td_ Hileryl

SIgepT 37 G@HY gl

Options:

1. *» ged
2. * gEd
3. vgaid
4, » gEr

Question Number : 173 Question Id : 54592751280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv grearer & folv 3T =g &1 ¥ Hifav)

TSIHeRT 37T EAT &

Options:

1. = Tad
N

2. % '@ET—F



S.J@H
4.&1@@

Question Number : 174 Question 1d : 54592751281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIE, T TeIelIf e ATd BTl

3MaTgT

Options:

1. % eI
2. % ST
3. = grRAA®
4. v A=

Question Number : 174 Question Id : 54592751281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w v ersg T [AAH oo AT FIST]

Hidigel

Options:

1. = 3hFeJToT
2. % Sehdy

o,

3. ® gIEda

4. v AT

Question Number : 175 Question Id : 54592751282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

o0 T SIec &l GATATAT e FATT By

HeldST

Options:



1. = gq
2. % dIC
3. v TERNT

4. % T3

Question Number : 175 Question Id : 54592751282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

BT 10 ofeg T FATATAT osg AT FIilaw]

Heldol

Options:
1. = 8
2. » Tig
3. v IS
4, » IqF

Question Number : 176 Question 1d : 54592751283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET T ererg # Seid UTHI T g dieh ah TIT il Iid iyl

T Tihelc GHT Agd TES gl

Options:

1. v @l
2. % &Y
3.+ 9
4. % T

Question Number : 176 Question Id : 54592751283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feT 910 arerg A 3T TWEeT FT el Hhleh e FATT HT et
FIeTT|

I gishole TTAT dad 98¢ &l
P |

Options:

1. v &
2. % @l
3.« &
4. » U

Question Number : 177 Question Id : 54592751284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T ared § @iTdd 9T BT Gg1 dep ATd hitag]
Ther 7 Ukl bl Y& &l

Options:

1. v FHGORS
2. % Pdl
3. ® I
4. % 3UTEH

Question Number : 177 Question Id : 54592751284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few a0 g # TEITehd AT ST el sk AT hiTolT|

T o Uehol I JEceh T

Options:

1. v FHFIF

2. % hdrl




3. % IOl
4. % 39IETT

Question Number : 178 Question 1d : 54592751285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET T 2rec; T SAger FATd iy
g

Options:

1. = g+T
2. % G T

3. v &qU
4. = ¢+

Question Number : 178 Question Id : 54592751285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20U I o F SREREEEIS e

e

-
Options:

1. = galT
Tt
2. = afaar
e
3. v 9qu
a
4, = O
Question Number : 179 Question Id : 54592751286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fU 7 eree; AT YleelT & FATT Hifery)

HeT=T

Options:




1. * 9aT
2. v Hq
3. = qrar
4. % qadr

Question Number : 179 Question Id : 54592751286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv ereg &1 gieeeT §9 AT HIfev

ATAT

Options:

1. = &7ar
2. v {9
3. % #Tar
4. = #Hadr

Question Number : 180 Question Id : 54592751287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET T e T SAgera FAT Iy

Options:

1. v ™ot

2. % Ty
3. = Tl

4. = TqTerdT

Question Number : 180 Question Id : 54592751287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2T 1T ¢Ts ohI Sgadel AT e

adTell

Options:

1. v JdTel

2. = IgTollq
3. = TgTell
4. = FATeIAT

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

General Hindi?2

10
5459272540
0
120
No
No
0
20
No
Yes
0

0

General Hindi2

5459272540
1

Online
Mandatory
16

16

20

1
5459273047
Yes

Question Number : 181 Question Id : 54592751288 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TU TTT ATH T &g W AT e I GH IS F1C 3l

3 (1)/ WIET 1Sl (2)/ 3R FTSThdl B (3)/ FelT3q (4)

Options:

1. =1
2. v 2
3.3
4 %4

Question Number : 181 Question Id : 54592751288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu arv g &1 9 AT A9 WG Fig AT B

a7 (1)/ A gt (2)/ 3T wsfHat #r (3) qamsv (4)

Options:

1. = 1
2. v 2
3. % 3
4. % 4

Question Number : 182 Question Id : 54592751289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el #§ & oI 97 9197 6T a1ard g1 32

Options:

1. = HAT SIT o 3MTd g1 PIRAshA Y& FI 7T

2. % TIp  AEATAT dg HICIUTHR AT T 3l
3. * gg AT & 1Y [QI<he HT o1l

4, v GHT T 9IS Het 39117 AT BT ol

Question Number : 182 Question Id : 54592751289 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

e @ & @ i a1 gy O3 I g o8l &7

Options:

1. = FIT ST & 3T &I FRIHA i‘gb%)l'dlﬁll
2. = gl ok 3TolTdr g WIeamhl 8T Iar g
3. = gg AT & A1 [9iFhe &1 oo

4, v TAT W A Ao STfov M T &

Question Number : 183 Question Id : 54592751290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o T a1er T § T@iTche YT T PTel T hITTT]
WTell UTet ehl Ll g1 ATl

Options:

1. v YU YdTer
2. % JUT Ydelel

3. * T Hhlel
4. » 3THH Ydblel

Question Number : 183 Question Id : 54592751290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w I arog & YGITehd 19T T Tl ATd hIIT|

HATell Ty shr T IGT AT

Options:

1. v 3qOT $[cehTel

_%'CI::U?“

2
3. = HTATY dcIhTol
4

. % o 3-Ic\d°hlc>i



Question Number : 184 Question Id : 54592751291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T a1erd &l U SATd hi=igl

HIS FGdT ST % &

Options:

1. * IRYSATD T&
2. v TTdared
3. * GTawTaTts

4. » QUi gl

Question Number : 184 Question 1d : 54592751291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foU 910 T F7 987 AT eIV

#i1g Fedr ST Wr &

Options:

1. = AT T&
2. v WEIaargsh
3. » gravgere<h

<
I

4. = qoTdEdIdH

Question Number : 185 Question Id : 54592751292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T a1 dt i AT DIyl
AT T AL T 3(TT & &l

Options:

1. v 9TEIT YIh
2. * Ghdrdd
3. = HTEATIR




4, » FTETI®

Question Number : 185 Question 1d : 54592751292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a1 grrg =1 gicad AT FHifeiv|

AR ar 98T 9T 31T & &l

Options:

1. v STEId] Ik

2. % HhdTeh
3. = AT
4. = fAfeaards

Question Number : 186 Question Id : 54592751293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TU 1T T § TGitchd | [hd Yeh T TEY g AT BTl

i1 g5 #s qR ara-t & 3l
Options:

1. v HEIH
2. % 3H
3. % 3T
4, = TIH

Question Number : 186 Question Id : 54592751293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feu v arew A T@ifRd AT fF9 9FR FT TF § AT HIe0)

Hot G S SR e &1 g

Options:

1. v ALIH



2. % 3cdH
3. * e
4. = UIH

Question Number : 187 Question Id : 54592751294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TQ Tq arerd # JuYeh UXET DI UL e [¢eh TIT &l Jid DIyl

3 THA 7T oi¢ gU aaT

Options:

1. v &l
2. % ¥, T
3.« @, d
4, % @G

Question Number : 187 Question Id : 54592751294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev 910 arFg # Suger TIEET T ST Flh Nebel TUT HT
GRS

3o TR qedT e gy ST

Options:
1. v &I, W
2. = 8, W

3. % &I, &
4. = &I, T

Question Number : 188 Question Id : 54592751295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



MEeiEd Uy #, 0T M7 I [Admedl # ¥, 39 [ddeT &7 Id9 B2 ST [dJ
MY JgTa & 1Y Dl 98 €T F <h BT gl

Gich SITUT Tl

1. = -qu dTd T dTel B o Tl
2. v T I ATl
3. % AL DI 3R 37T T WA

4. % UAT NPT ¥ TGAG P Td PEATI

Question Number : 188 Question Id : 54592751295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T uea A, Gv 717 I) TFedt # A, 39 AT
el hY o [T I ﬂslqlﬁﬁﬁaﬁﬂﬁmwﬁﬁﬂﬁﬁ
LT Bl

 —
<Jlercd ST <letledl

1p. % agﬁmﬁamﬁmﬁchia FG |
2. v SN 3Ucer Tl

3. » TIT I 3T 319w TqT A

4. = HIAT 3RId H d¢de Y STd el

Question Number : 189 Question Id : 54592751296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyerad Ty #, U 77 IR Odeut § 9, 39 [OaeT ar a3+ o & ey
T YETeR o 379 Y 9B T 4 &h BT gl

TeISToll 9T hier ST

Options:



1. » TeISTell eI

2. % TeISTelt 7[eT gl ST

3. » T G&dT hl5 B GEUg gl
4. v D TF STl

Question Number : 189 Question Id : 54592751296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@a wed H, U v I &Fedl # @, 39 AFeT &
T e ST EU I gslqlﬁﬁﬁaﬁﬂﬁmmﬁﬁﬂﬁ
FIAT Bl

TSarelr dr hrer AT

1. = TSoTell THSRAATI
2.w%a3ﬁalﬂa’rml

3. = 8T &l HIs HIH TFed Tl
4.

v 37dlaeh $HS Fa|

Question Number : 190 Question Id : 54592751297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MHTeiad Uy #, ICU U I [dded] # 9, 39 Tddmed @ Tdq & Sl e U
T qgTor & 31 ol AYS & & ek BT 3l

3 & ZTY T &I

Options:

1. * Igd THATT BT
2. % 3ITH® da raurd 31T
3. v 31Nl IR ed T HoT ST

4, % Uedl Hene chHll




Question Number : 190 Question Id : 54592751297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT g wed H, U a7 I) [Aeheul H &, 39 AFheq &I
Tl hi oif fEU Ia agsml o 379 hl TIATS T T ol
FIAT Bl

Y o BT T oTaAT

Options:

’I.%EIEFI'}T@F'I?I'WTI
2. % 3T<ITeleh a7 Q9fcd 37T
3. v 3T H 3MTeleh THed m—gﬁflﬁa'l?m

4, = ITEAT Uehe h{alT|

Question Number : 191 Question 1d : 54592751298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T MY Srec & THE & 1T TET GgTaR BT g Hitayl

IS MY TG 1T DA ITE, AT

Options:

1. v I AT

2. % ol U THS OSHAT
3. % ZHT GT SeTe AT

4, % AT IS

Question Number : 191 Question Id : 54592751298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 9w ersel & dHg & AU WE A FT T FIHC

IS 3T 1§ AT FIA IS 3Tl

Options:



1. v TgTHaT BlalT

LY i
2. % Slol ¥ oAHR Te5ahdl

3. % Tl AT STaTe ceoll

4. = TET ST

Question Number : 192 Question 1d : 54592751299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T MY Srec & THE & 1T TET GETaR BT g Hiteyl

ST UTdLTeT HEAT

Options:

1. * 3eeT IIX BIdaTel Bl Sic
2. v T ¥ EC gMET

3. » Fel gSI AT 4T

4. % YT AT IS U1

Question Number : 192 Question 1d : 54592751299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few aw ersel & dHg & AU WE FEA FT T FIS0

Schy UTaUrT Sddl

Options:

1. % 3¢l AR hiddrel ! S
2. v 3¢ T 3¢ Follall

3. = 3Fel w81 AT HE

4. = oVl el STol Hell

Question Number : 193 Question Id : 54592751300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TEQ MY AT & T gl elleniich T T Dhieh 1¥eh €T i it iyl

TFEIT TS T Mg WEraAr Wiy 3

Options:

1. * [de @7 dTS
2. * Dlog P ool
3. v §od ol Td=Tch @r GgRT
4. * FST BT Y 1, [l

Question Number : 193 Question Id : 54592751300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U a0 arrg & foIw T@r Aleeifed T e Seh Nord T
$r gff o)

JFERT g &7 3R dErar A o gl

Options:

1. % Tdel T dE

2. % ch\Ie'Et'-\ T ol
3. v 39d &I fdelsh &1 g
4. = BT FT g TG felan

Question Number : 194 Question Id : 54592751301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T a1 | Tohg o Rig & IUT f6dT ST ATd hiiig)

318N TRUTET 77 78 ¥ 2@ g ST 3l

Options:

1. v -
Z'Q-E!'
3. %




4 =

Question Number : 194 Question Id : 54592751301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 710 g=og A R ”[UHA RES T 39AET RIT ST9em ATd
HITT|

3reler FOUTET #F {IY @ 2@ @ S §

Options:

1. ¢ -

Question Number : 195 Question Id : 54592751302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToIE @ § 9 BT ST g1 g1 39 a1y o 3id # Thd T Teig @1 ST
T STTaT 3?

Options:

1. =,
2. % |
3. %l
4, 7

Question Number : 195 Question Id : 54592751302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmmﬁgﬁﬁ@mma’rw qrFT & d H g A
RIEeT T IUNT T ST &7

Options:

1.+,




2. % |
3. = |

4. v 7?

Sub-Section Number: 2
Sub-Section Id: 5459273048
Question Shuffling Allowed : Yes

Question Id : 54592751303 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

TTEITSr @t ETTYeln UG aYT Uede U # R ferdheul # § Fgl ferdheq 1

R ST T g UHT IO & Foi aTeh SIfeh el § g oliel e 370+
TORITRT @7 3TE-UI] & ofdT gl aTuil STET Uah 37 o’ 2 gl 410 &
HIST et T gW ThdT T WY g2 ST Fehd gl s aTd [hdT avg T I
AT g T 3T TdvaeT gt [MapTer &l ©Ter &7 STTdT gl g8 30T aTuiT e 370+
TSr | TGAT AMGUI AR e G &ATeAT 3R Slere ellel STl T iTa
3R @ UEATd gl R F SleT dTet Siched Bl T gl 37617 gldl gl A
goT 3T qUATSIT [&@aT gl i U4y o EaT gl 99 o Tei fohdT r
UIST Tgl Ugarmdr af 39 | fhdt TehIe & g aere G i Tgi [Held] HYT
YTHT eTth &t THT §idT § T DI s BT AT PIAT gl ag Tadre I |r
A 3R TATAE grar g1 AiId a1 U= | o T g1 SI1aT 3 AT €T 24T gl
SIT <t el I 3ITT g1 gl TS AT UL I U SIS §3IT B g, HIS sflel
ST AT Tohawt oTaI8dT el & gl Dhaa are dlel dTell dhddl a1 dg al
ST g U 38 g gl &f1e, § §@ Ugandl gl Usdrdr 31T TcATell & [&elm
39 U PO gl @1l TY T et F Teha= Sreur Tergf gt 31T ST 3|
ASHTUT FHT F SIEdT ol gTe 61 gl

Sub questions

Question Number : 196 Question Id : 54592751304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SITell &t Slich thelel Thdl THoIT 57

Options:

4. v e

Question Number : 197 Question Id : 54592751305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& T gt &1 et hY St Iahd 82

Options:

1. * TSaT el B
2. v HIoT TeTde
3. = T 9T I
4, = TATS caw

Question Number : 198 Question Id : 54592751306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DI ¥ ATeh G TWAdT DT TT dGId 872

Options:

1. v FATHT
2. = THepsT aTulr

3. = SRT9ETEr
4. = AT

Question Number : 199 Question 1d : 54592751307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SUeh TWEATSr T Sk T g2

Options:

1. = THT STU Gl 7T T 3T @I
2. v HIST aTuiT

3. % oA

4, = T=ar




Question Number : 200 Question 1d : 54592751308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HSdl AT Slel dTel & UTH FAT eldl 27

Options:

1. v USdrar
A RCICH
3. * HEd AT

4.+ qg

Question Id : 54592751303 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



AT FT ATAqdh T TAT Tedeh T2l H TR faehedt & @

i M
Hal fashed o

TN I o ATeTd ar vdr wioiT § 99 gt ofea AT & a8
el T Ye AR T META-UETeT T ofdr &1 ol &7 Tk
AR e § agr AT § Aver &t R &H TRAT o7 o g
oIl Fehdl &1 F3dT a1 fordl e @ I Sar & foF 39 fovdan
&T ToiehTol off 91T & SiTal &l &H 3Tl ol &l 39e @l H
TEET WY | HYY T<lel Folol ATl 3T Slolel aTel il hI WA
i 3R g= qém«-‘i & R & Sielel dTel STTedcg hl Ig<Tel
&7 376l BIdT &1 HeT &eehr 3 qIare GEar &1 saied Teed
Ried I&dT &1 9 O @I TohdT &I 9IST 6l qémm?—l’r?ﬂ#aﬁ
forell ThIT & v TXIel Tolol T o6l ool | AYT HATNT SATehel
gt TRT 81T & JuT B 928 T 3 Hdl &l d8 TaHg &
1 oA 3T faferse giar &1 sfeffad & 9T o @ I &I ST
& AT FERIT T §| Sl T kel 39 3T §1 FT 915 T R
ﬁrmmgmaﬂﬁﬁﬁ%a’lﬂmmﬁﬁ?ﬁﬂswqi el
ad &1 hsd g<el Slelel dTell h=dl ST g dl oldl & 9 34
T g1 g A g8 qémm &1 Tamar 3T AcAT & [&ar
3o 9T gha&?lﬁl%?ﬂl AYT gl delel @ Tohdal 37a9[0T g

g 3T ST ¥ AT |l @ Qe FT EY §er B

Sub questions

Question Number : 196 Question Id : 54592751304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SloTel =hT <TfebT ohael Tohd THol &7

Options:



1. % 9
2. % T&T
3. % FaEqd

4, v HASY
ot

Question Number : 197 Question Id : 54592751305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gH TordT &7 el 8 Siid Hehad 87

Options:

1. % Shgdal STeT L
2. v HIST ety

3. % TITAT TT hY
4. = IS gL

Question Number : 198 Question Id : 54592751306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fid T Sod gad HIAT T &Y Fd 87

Options:

‘I.ww
2. % SheRel @TU

3. » ferrerardr

4. = IGcIAIS)

Question Number : 199 Question Id : 54592751307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SYYF IEGT T Ao 4T &7

Options:

1. = QAT GTull aTelT HeT T IHTUT T
2. v HI&T arofy




3. % R
4, = TEFaT

Question Number : 200 Question 1d : 54592751308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$gdl ST Slelel dTel o UTH FIT SIdT &7

Options:

1. v 9&dEr

2. = el

3. * Fhed FETH

4. « gE
o



